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UM S, TH S0 FRE F %A ad 9961
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0.25 3019 €| =g T Joft 6w H <irs fean sy, @
TvTET wfaier s gem 2

1 13

@) 43

3) 0.253M
4  0.53H

x-Tesm § Haita ws Frae forga grarmnra od & forg
Freafafea g § | SE a1 A g 89 ((6)
9T JFERE &7 (B) T R 9 fasmedf i ysikia
FEE?

FATINF 4 M

@) G4k —j-k

MM P 48

@ _jrk -tk

Mo A A

B itk itk

LAY MM

@ itk -j—k

fow T2 eI Seedl € V=V, sinot ¥ ‘C’ 9IRa
& TF 9T T[S §

w1y & @I 3 €= oo s e
_Vo .
(1) Id_m sinmt

B I3=V,eCeosut
Vo

Lag=— t
(4) d= 0080

THAUT 600 R qEeEd ol warer 9 SieeH wi
Hepug Seafsia hEF! i HE B 5" 98 3.3 X 10~ 3
a1 i Seafsa T §
(h=6.6x 1034 SAx T

() 1016
2 1015
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Hindi+English

Section - A (Physics)

The effective resistance of a parallel connection that
consists of four wires of equal length, equal area of
cross-section and same material is 0.25 (. What
will be the effective resistance if they are connected
in series ?

Qn 10
@ 40

@ 0250
@ 050

For a plane electromagnetic wave propagating in
x-direction, which one of the following combination
gives the correct possible directions for electric
field () and magnetic field (B) respectively 7

FAT Y FAT Y

S A .

M FAT Y

@ itk —itk

AN A A

G) itk j+k

F T 4 SN

@ ik ik

A capacitor of capacitance ‘C’, is connected across
an ac source of voltage V, given by

V=V, sinwt

The displacement current between the plates of
the capacitor, would then be given by ;

ib;[} ;
I _— 't
(1) d oC 5110

2 I;=V,eCsinnt
@)  I;=V,oCcoswt

@4 Ig= Yo coswt

Q¥

The number of photons per second on an average
emitted by the source of monochromatic light of
wavelength 600 nm, when it delivers the power of
3.3x 10~ 3 watt willbe : (h=6.6 x 10~ 534 Jg)

(1 1018

2 1013
3 1018
4 1017
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3.

TH HU Yol Fag | S SR | fRen s g e
ffvaa S W gme! Tias S suent feafast ot =t
T AT S S| S &701 Rt et TaE W HaE q
T T =T B Y

S 3gS
® 7%

1 Sufeya st e avft U d §, 59 g
S U BT 2 |

@ T v fogga fya sl Srar @

3) Torme fgya sl 3= 2w B

4 = fogga &% % sufeea & & 5y smepl wrw
W §, STEE o fawems &% SR

Ii I [F], ™R [A] 991 999 [T] # 587 ©ifaw
ST A o =y, o 35oti a1 oA J Sifeid |

O [F1[A][T—!]

@  [FI[A™Y][T]

3  [F][A][T]

@  [F][A][T?]

TF 2WEET & 96H & faw 15 fFma. =5 g
60 1. =S W T IRan £1 =01 o FRO IR
et ==t & 10 wiawa =t @1 21 81 TWEEA S TA

o wifem <c9=1 & ST 2
(g=10HI1./4.2)

1)  12.3TFemEr

2 7.0TFAER

(3) 10.2fFamEmr

(4) 8.1TFcEE

TF 240 TSHAE 981 & 119, T S0 G
120 % T @S H a1 ¥ I@ied qu @ied
Tifuwt *1 9v47 =i wfa gl wqm
7.6 ATEEEH Hice (MeV) T 8.5 TR diee
(MeV) &1 WsFH H el W S Sl ol &

(1) 804 BB diee

(2) 216 HIEHRMA diee

(3) 0.9 HIEHRM dIee

(4) 9.4 YRR AL

3

05

A particle is released from height S from the
surface of the Earth. At a certain height its kinetic
energy is three times its potential energy. The
height from the surface of earth and the speed of
the particle at that instant are respectively :

Polar molecules are the molecules :

(1) acquire a dipole moment only when magnetic
field is absent,

(2)  having a permanent electric dipole moment.
(3)  having zero dipole moment.

(4)  acquire a dipole moment only in the presence
of electric field due to displacement of
charges.

If force [F], acceleration [A] and time [T] are
chosen as the fundamental physical quantities.
Find the dimensions of energy.

O [FI[AI[T-H]
@ [FI[AT[T]
@) [FI[A]IT]
@  [FI[A][T?]

Water fallg from a height of 60 m at the rate of
15 kg/s to operate a turbine. The losges due to
frictional force are 10% of the input energy. How
much power is generated by the turbine ?

(g=10 m/s?)

1) 12.8kW
@  70kW
3  102kW
4 81kW

A nucleus with mass number 240 breaks into two
fragments each of mags number 120, the binding
energy per nucleon of unfragmented nuclei is

7.6 MeV while that of fragments ig 8.5 MeV. The
total gain in the Binding Energy in the process is

1)  804MeV

@ 216 MeV
3) 09MeV
@  9.4MeV

collegedunia:s

India’s largest Student Review Platform

sh

T



5 4 Hindi+English

10. T *‘%rj‘“ STe ek R o ST ol H194 6 foY T | 10. A screw gauge gives the following readings when
Teman e ®, @ Fr=riafiaa weaie T © used to measure the diameter of a wire

. Main scale reading : 0 mm
T T &1 wieaiF = 0 faefiiex

FE U= o USHF = 52 @

Circular scale reading : 52 divisions

(Given that 1 mm on main scale corresponds to

fear € T = T w1 THefiHeT q;.ﬁ—q g 100 divisions on the circular scale. The diameter
. . ’ . f the wire from the above data is;
¥ 100 @I % Ga B €| Sugde fTu T Yeroil & ¢
T FH = & () 0.26cm
1)  0.26 9.4 2 0.052cm
3 0.52 cm
2)  0.0529.T ©)
(4) 0.026 cm
(3) 0.52 9.
4 0.0269.H. 11. The equivalent capacitance of the combination

shown in the figure is ;

C
||
N

11.  fEu T weem § e aifian § ¢

|
|
i
|

||
— ——C — lé
J @O o
C
@  3C2
(n G2
(3) 3C
2 3CR2
4 2C
3) 3C
@ 2C 12. Adipole is placed in an electric field as shown. In
which direction will 1t move ?
12, TeorroR w foya fagm &= & s 21 98 i T
T i s ?
¥ Sl o S tj! _____ _>.. 7
~+ q-—q
F r- -t:t ..... .}. E ‘
.. T4 —q A
(1) towards the left as its potential energy will
Mg decrease.
1) = Tk FifE T Terfast oot | (2) !:nwards the right as its potential energy will
increase.
@) TP R FAF T %l 9 6T | (3) towards the left as its potential energy will
@) wrl WE FiE s fufist wet g | LEERRES:
. (4)  towards the right as its potential energy will
(@) T WE i 39 eufast St s decrease.
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13.

14.

15.

16.

femmu T T WEE % A 0 5 TR W o |

TEIfE Bl B = % GER UH SO
105 T4, = =0 H TG 1 &1 Uk &19 W a2
AT AAF o 19 T g 20 HAL §1 SH AN W
$ERM g SYE ffa ST a9t & 9iEm i

IO TSI |

Electron v=10% m/s

e

20 cm

!

P 5A @
(1) 4wx10- 20727
(2) 8x10~20=ge
(3) 4x10~ 27T
@  Swx10~20=gE

n—27EY ST=TeTH | SoEeid i Higar Sa gt § fee

p-2EY ATAF T i T Tgal §1 A1 W &I

forea & o S 1 S o umeT o ST i

T I |

() n-oEIHYU>p-IRYH G H

2 p-IRY H FE ¥R yared T8 g, Fad
n-289 § YR Yanfga 2ri

(3) n-°RYH UN=p-2EYH U

4 p-2BIHUN >n-IBIY GUA

T 319 % T d’ T W Tk 20 T.AL B T
H ITA A A A 5 A, HeRE T STEad
T B @ | A A’ R SAITa SHRR TR I,
B | Freher R o FERR T @, @ g d
.. o gnft e

L 50
2 30
@ 25
@ 15

Th Ted W g T41 o g ol o &I *

stfigvae o fou srafaes Suam S 8, S

(1) T J8d GReF U 991 g9l % oY IneE
FATE |

) T Jd ST 1 ST SYYH Yo GUem
&A1 1 HREF ST B

(3) T Jed e 399 Ta4ET TEH F4a § |

@ SdFad gt

5
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An infinitely long straight conductor carries a
current of 5 A as shown, An electron is moving
with a speed of 10% m/s parallel to the conductor,
The perpendicular distance hetween the electron
and the conductor is 20 cm at an instant,
Calculate the magnitude of the force experienced
by the electron at that instant.

Electron v=10° m/s

e

20 cm

P iﬁl Q
(1) 4wx10720N
() 8x1020N
(3) 4x10~20N
(4 S8Brx10720N

The electron concentration in an n-type
semiconductor 1s the same as hole concentration
in a p-type semiconductor. An external field
(electric) is applied across each of them. Compare
the currents in them.

(1)  current in n-type > current in p-type.

(2) No current will flow in p-type, current will
only flow in n-type.

(3) currentin n-type = current in p-type.

(4)  currentin p-type >current in n-type.

A convex lens ‘A’ of focal length 20 cm and a concave
lens ‘B’ of focal length 5 cm are kept along the
same axis with a distance ‘d’ hetween them. If a
parallel beam of light falling on ‘A’ leaves ‘B’ as a
parallel beam, then the distance ‘d’ in cm will be ;

1y 50

@ 30
3 25
@ 15

A lens of large focal length and large aperture is
best suited as an objective of an astronomical
telescope since :

(1)  alarge aperture contributes to the quality
and visibility of the images.

(2) alarge area of the objective ensures better
light gathering power.

(3) alarge aperture provides a better resclution.
(4) all ofthe above.
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17.

18,

19,

20.

T T 10 A & 9 9 5 4. fa<i Tt g1 5=
2 T30, ZoomF o) 369 T Sl €, T e o
ST BT ®

1) 3.14HFTE
@ 0.628UFUZ
3  0.0628 UHIE
4) 6.28 TS

e fedmfra =EemEe 1 adeyg 100 w2 ¥
150 B 3 S WRIFTR HfFm o1 == gerr fHercdeh
WFT BT

2
(1) 3

2
32

1/2

2)
(3)
b
272
R, T R, T & < straif¥ra siiefia =imersh T ar &

Sirg e SR 21 7l & 5 SO Bl (o /o) T
ST BT

4)

2)

(3)
@)

T favemmdt 9Rusg 5 1.5 dice faana, = & 9«
36 B TR ¥ TR W wgfem fag ot &1 Al
2.5 aice g, arcll gadl §el Uael §et i yiaeaid
FA B, @ aR & fFw ol w w@yfaa fag
BT ?

1)
(2)
(3)
)

64 9.
62 WA,
60 |,
21.6 9.4,

6

17,

18,

19.

20.
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A gpring is stretched by 5 cm by a force 10N, The
time period of the oscillations when a mass of 2 kg
is suspended by it is

(1) 3.14s
(2)  0.628s
3) 0.0628s
4) 6.28s

The half-life of a radicactive nuclide is 100 hours.
The fraction of original activity that will remain

after 150 hours would be :
v 2
M 3
s o
2 372
(3) 12
1

@ 272

Two charged spherical conductors of radius R, and
R, are connected by a wire. Then the ratio of
surface charge densities of the spheres (¢,/d,) is :

@)

€

In a potentiometer circuit a cell f EMF 1.5V gives
balance point at 36 cm length of wire. If another
cell of EMF 2.5 V replaces the first cell, then at
what length of the wire, the balance point occurs ?

() 64cm
(2) 62 cm
3 60cm
4) 21.6cm
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21,

22,

T R oo ®t AR aRER! Sfda § 9/ 7 39E
ST R W 99 &1 Y faafid €1 Ffaad & wro
D AF B(r) 1 AR biad 9 H ¢ g F
AT YIS ©

0 B g q

@ B d

® B |

@ B q

r ?

U HAMR ©iT 9 & We & 99 GHYHH
f@ a5 ' 31 IR F AR g @ T
T HT GTRA AT B Al U B USHSE Sei
T+ (g, =TTatia =1 Tergasiteran)

M %EﬂEzﬂd

EZAd
(2) %

i
3) EEHEE
@ eFAd
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A thick current carrying cable of radius ‘R’ carries
current ‘I” uniformly distributed across its
cross-section, The variation of magnetic field B(x)
due to the cable with the distance ‘r’ from the axis
of the cable is represented by :

O B |
—
!
2 B
T —_—
1
@) B
'S —_—
!
4 B
T —_—

A parallel plate capacitor has a uniform electric

field ‘E’ in the space between the plates. If the
distance between the plates is ‘d’ and the area of
each plate 1s ‘A’, the energy stored in the capacitor
is : (€, =permittivity of free space)

a %EUE?’Ad

E2Ad
2) %

1 ;
&) EEDE‘}'
@ ¢EAd
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24,

25.

26,

T 7 T o TR e Ta8 W N TR Wi
T faaaesre T eafag ot 81 Ak a9
ST “m’ TN & PRIBAEEH i S-siell qieed
}‘d g“f, T‘ﬁ :

’”2mc 2
1 A= —}‘m

2)

3)

@ hf[%}hg

TS a5 ‘n’ AT A T AE T Hl 81 3HRT
fegfas o=t =1 T ©

(1) 3n

(2) 4n

(3 n

(4 2n

frfafias e (A) 997 (B) R fa=r +ifqu a=n
e S = Fafeag S|

(A) TF SR I Iopd AR § <o §, <™
fava fa= # e TgE e o |

p-n |9 &1 fa¥g =R 0.1 diee aqr
0.3 e % = B ¥ |

(A) T % W (B) e ¥

(A) 7T B 9 (B) §A T

(8) THEI (A) 9 (B) A T

@ I (A) 9 (B) TR 2 |

@ T 99 % SER UF L TR & U, T
C ofar & RS 991 T R’ 9Oy &7 gioliess
V diee favamr & yemed s 9 4o w0 E 93 €

L, C, R W fgua=r &9 40 9i5e, 10 diee a9l
40 =t ¥1 LCR A" ufiyyg & warfgd

1042 TiEER ¥ uftee = wigenen &
AAA—

(B)

(1)
(2)

— AP V—a>«— 10 V—r— 4 V—>

(~)

L

A
4 37H

5 3

4/2 S
5//2 3H

1)
2)
(3)
4)

8
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An electromagnetic wave of wavelength } is
incident on a photosensitive surface of negligible
work function. If ‘m’ mass is of photoelectron
emitted from the surface has de-Broglie wavelength
Ag, then :

(2me}, o
A= —— |A
(1) T ]d
(2hY). 3
a=| 22 I
(2) kmCJ d
'(21'11 2
A= — [Ag~
(3) khc) i

[ 2me 2
@ ?\d—( b ]?\

A body 18 executing simple harmonic motion with
frequency ‘1, the frequency of its potential energy
18 :

1)

an
(2) 4n
3 n
4 2n

Consider the following statements (A) and (B)
and identify the correct answer.

(A) A zener diode is connected in reverse bias,
when used as a voltage regulator.

(B) The potential barrier of p-n junction lies
between0.1Vitc0.3V.

(1)  (A) is correct and (B) is incorrect.

(@)  (A) is incorrect but (B) is correct,

(3) {A) and (B) both are correct.

(4)  (A) and (B) both are incorrect.

An inductor of inductance L, a capacitor of
capacitance C and a resistor of resistance ‘R’ are
connected in series to an ac source of potential
difference V’ volts as shown in figure.

Potential difference across L, C and R 1s 40 V,
10 V and 40 V, respectively. The amplitude of
current flowing through LCR series circuit is

10v2 A. The impedance of the circuit is :

— A V—— 10 V—— 40 V—>

()
LS
V
1 40
@ 50
3 42 0
@ 520
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27,

28.

29.

foom 9 f9iq =W F 9 =1 99 SIS Hi= H
TadE V3

m 60°
1) 45°
@ 90
3)  60°
@  30°

w Wediahes s SX %om: faufeq @ 2

2X >z 1Bz 3C o7 oD w9 F S Z 7=
X %1 9] 9 &1 w9 o faufen wmm ww
ShHRT: :

O BT e B
@ BBt
® o p7, BT
@ o pF, B

o (1= 0) ¥ U B i (e JaaHad 9
1 IR fauwa €1 9K 3R t=n—1 Yt=n F &4

. S
ek g =l T gl S, B g “1 o ST BRI Y :
n-+
n+1
@O gpq
2n
@ 95
9n—1
®
2n—1
@ oni1

9
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Find the value of the angle of emergence from the
prism. Refractive index of the glass is V3,

q 60°
1) 45
@ 90
3 60
@ 30

A radioactive nucleus ‘%X undergoes spontaneous
decay in the sequence

%X—}z_lB —}2_30—3*2_2]), WhEl‘E YART: the

atomic number of element X. The possible decay
particles in the sequence are :

1 BT, BT
@ BT p”
@ o B, BT
@ o BT, B

A small block slides down on a smooth mnclined
plane, starting from rest at time t=0. Let S be
the distance travelled by the block in the interval

t=n—1tot=n. Then, the ratio 18 :

Sn+1

2n+1

D 9n1
2n

2) 2n—1

Zn—1
(3) on

2n—1

@ 2nt1
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31,

32,

33,

T - 1 1 T - 11 ¥ gfaa sifse 9o 9= ko
T ool ¥ W gAfew i Biey :
T - 1 e - 11
@) % s @ ®) %nmﬁz
T /T A A
3RT
B I I W SR I (Q) B
(C) I 3iraa Tt e R) %RT
O LGS kgt
el ST ol
1 @A-@Q,B)-®),©0-6),D-®
@ A-®),B®)-@Q),C)-®),D)-E)
B @-®),®B-F)O0-6).0)-Q
@  @-Q,B)-®),©C)-6),D)-®

TeAl Hag | YO 97 v ¥ | THF SSHM T qel
ge&f & s 3 =R T R arel SR U8 o Hag |
AT 97 BT ©

1 3v
@ 4v
8) v

@ 2v

T Y HH ¢ T H 90°C 9 80°C T T2 BT €,
STE HHY A9 20°C B 1 S HHY % 919 T GHF T
& Y H HTH A 80°C F 60°C TF 3781 HH H §99
SR

W ot
@ ot
® i
@ L

AqiE E 91 G AL FHell adl TEArRyv i
wﬁhmﬁ%ﬁﬁr% 1 Tomm B 8

()  [M][LO][T°]

@  [M*][L-2][T 1]
@  [MAP[L-1[T9
@ [MI[LTY

10

30.

31.

32.

33.
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Match Column - I and Column - IT and choose
the correct match from the given choices,

Column -1 Column -11

(A) Root mean square (P) %ﬂfﬂ Tk
speed of gas molecules

(B) Pressure exerted Q) %
by 1deal gas

(C)  Average kineticenergy ([R) gRT
of a molecule

(D) Totalinternal energy  (S) % kgT
of 1 mole of a
diatomic gas

1)  @-@,.B)-F),(O)-3), D) -R)

@ @-®),B)-@Q),©C)-(E),D)- ()

3 A -®), B)-P), (C)-G), ([D)-(Q

@)  @Q-@Q),B)-E&),(C)-(5),D)-(F)

The escape velocity from the Earth’s surface is v,
The escape velocity from the surface of another
planet having a radius, four times that of Earth
and same mass density is :

1) 3v
(2) 4 v
3 v

4 2v

A cup of coffee cools from 90°C to 80°C in t minutes,
when the room temperature is 20°C. The time
taken by a similar cup of coffee to cool from 80°C
to 60°C at a room temperature same at 20°C is :

o ot
® ot
® 1ot
@ o

If E and G respectively denote energy and

gravitational constant, then g has the dimensions
of :

()  [M][LO[T%

@  [M?[L2[T]
@ [MAL-1[TY
@ [M]IL-1[T-1]

T
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34,

36,

36.

M EFAM T d ¥ i BRI g %1 o Faaid 9
N T | oM TR TS 90 9% ST B sl & | afg

ﬁmﬂwmw%%"mﬁﬂ?maﬁwmw
BT

(L) EME

@ 2Mg
M

®

@ Mg

W - 1 Y =R 9 v g 9 aeEeE $599
Wifrer T SE SR & | TR - I1 T TR S
o g wfvel afafem Bt & %1 o=k o= Bl
WY - I SR - [T 4 921 | g ghfer s ;

T - 1 L |
m
@) TR A ® Lz
® oy v @ neuy
o E
© ®
E
O) = ® 3
1) W-®),B)-F),0-S), D-Q
@ A)-®).B-Q,(C)-S), D)-P)
3  W-®).B)-),0-F) D-Q
@ @-®,B-E),0-Q, D))

JTUT - B ( Hifaent )

T %0 R 51 % 90 O 99F 9t 9 0 3 g0
THR QU FA H T 999 a1 ¢ |

afs a&t o fAfas 9 W T ¥ F0 0 W gwia
o ST, 91 4R 3 SRR SR SEE W
TEuT ST ‘o’ fem S ¥

o %
(L) 0=sin"! W—E
T
P 1
- L .
kﬂTzR
1
(8) B=cog ! g_glz A
T R
@ 0=cos ! ﬁ }é
g 2

11

34,

35.

36.

05

The velocity of a small ball of mass M and density
d, when dropped in a container filled with glycerine
becomes constant after some time, If the density

d

of glycerine ig = , then the viscous force acting on
, 2
the ball will be :

3
1) > Mg
2 2Mg
Mg
(3) 5
4 Mg

Column - I gives certain physical terms associated
with flow of current through a metallic conductor.
Column - II gives some mathematical relations
involving electrical gquantities. Match
Column - I and Column - II with appropriate
relations.

Column -1 Column -11

m

(A)  Drift Velocity 3 e 0
(B) Electrical Resistivity (@Q neyy
(C)  Relaxation Period (R) % T

_ E
(D) Current Density () i
1 AR, B)-F), (C)-E), (D)-Q)
2 @Q-R), B)-@), ©)-B), D)-F)
@ AR, B)-S), O)-P), (D)»-Q)
@ AR, B)-E), O)-Q), D)-P)

Section - B (Physics)

A particle moving in a circle of radius R with a
uniform speed takes a time T to complete one
revolution.

If this particle were projected with the same speed
at an angle ‘0’ to the horizontal, the maximum
height attained by it equals 4R. The angle of
projection, 8, is then given by :

1

2 o= gin f’ngE]/ﬂ

, ™ R

(  m2 %
(3) 8 =cos . i}

4 TR

1
(4) 0=cos™! [TFER}/E
2

T
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37.

38.

39,

TUTehthel
FqloxB)

— AA A
=quX\Bi+Bj+Bgk

i st

; - A
H, q=19M 0=2:i+4 j+6k

—r M S

P
F=4{-20j+12k % 98
B o TRl SisTeh SR 8 2

1)

it M M

8i+8j-6k

M M M

@  6i+6j—8k

st i Pt

@) _—8i-8j-6k

st i Fat

@  _6i-6;-8k

R, 991 R, f5reneii = <1 =merhie == o U ot |
HHHT=d W § 17 R, > > R, T 70 HEA TREA
T M’ WHURN B §

(1)
@)
(3)

)

‘M THAM a1 ‘R’ T & & 9969 See 9§ 90°
e 3 | U =Y () g e s ) s9 gw
TETl & WP I SIS ATV S601 & g | T[S arel
YT B 3 A & TR AL F WUy ‘MR2 =K
TR K HAA L :

(1)

2)

(3)

0o ~1 | 00| | =

4)

12

37.

38,

39.

Hindi+English
In the product
= Ly
F=q ( v X B)
— it Fat rat
=qux\Bi+Bj+Bgyk

- A A A
Forgq=1land v=2:+4j+6k and
— M M A

F=4:-20;+12%

_>
What will be the complete expressionfor B 7

et ' M

D 8i+8j-6k
@  6i+6j-8k
®  -87-8j-6k
@) —6?—6?—82

Two conducting circular loops of radii R; and R,
are placed in the same plane with their centres
coinciding. If R,>> R, , the mutual inductance M
between them will be directly proportional to

1)

)

3)

G

From a circular ring of mass ‘M’ and radius ‘R’ an
arc corresponding to a 90° sector is removed. The
moment of inertia of the remaining part of the ring
about an axis passing through the centre of the

ring and perpendicular to the plane of the ring is
‘K times ‘MR?. Then the value of ‘K ig:

1
(1) 4
1
2) 3
3
3) 1
T
) 3

sh
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40,

41.

42,

m@m#mrl,%ﬁ?ﬂrgmﬁaﬁﬁ?
yiiee Sie T 2| uiey ® yye gfekisl % 1 o

SIESTl %Emaﬂma%:

13

40,

05

Three resistors having resistances ry, ¥y and ry

are connected as shown in the given circuit. The

. I3 . .

ratio = of currents in terms of resistances used
1

in the circuit is ;

o
® Tim
® Hem
B

TF 0.15 T, 1 7T 10 . 396 ¥ el st &
oI STHI ) TR T HaR a5 ISl ¢ 1 g |

TR M ™I w1 9RETOT grAr ¥, w09

(g=10HI./4.2)

O 2.1fFm x@./A
(@) 1.4 T xHL/E
(3) OTFIm <t /4.
@ 42fFEm xd@./|

30 9.H. wIFE T F 394 o | 60 HHL T W
e farg o Suftem B ik uw wwaw g4, e
3787 o TTFEE a9 THH 40 WAL g W T S g, 6
I wdferea aram e <4

A

+—B0 cm—»<—40 em—»

(1) 80 A TS YW [, IE N Yfafa
B

20 W, TS UM W, TE SMVE yfdfe
BT |

20 9.HI. &= 9, I8 AR gidarars 2o |
30 9.9 ¢=7 9, 9% drafas wiarare g |

RN NN

2)

(3)
@

41,

42,

B Fin
@ i
©) r21:1|—r3

A ball of mass 0.15 kg is dropped from a height
10 m, strikes the ground and rebounds to the same
height. The magnitude of impulse imparted to
the ball is (g = 10 m/s2) nearly :

1) 2.1kgm/s
(2) l4kgm/s
(3) Okgm/s

4 4.2kgm/s

A point object is placed at a distance of 60 ¢ from
a convex lens of focal length 30 cm. If a plane
mirror were put perpendicular to the principal axis
of the lens and at a distance of 40 cm from it, the
final image would be formed at a distance of :

A
\

«—B0 em—»<—40 cm—>

MNON NN NN NN

(1) 30 cm from the plane mirror, it would be a
virtual image.

(2) 20 cm from the plane mirror, it would be a
virtual image.

(3) 20 em from the lens, it would be a real
image.

(4) 30 cm from the lens, it would be a real

image.
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43, T ufun § farsh fesiies fomme 5 A, B9e | 48, For the given circuit, the input digital signals are

CEERES T applied at the terminals A, B and C. What would
vl Fod e €. Ry R e il be the output at the terminal y ?

BT ?
b ke bty tr % s oty to b b
A° A
b —— &+ ! : R
g8 | 5 B> -
0— : ° A
: : : .
C
0 0
A

g C
6y b ty t; tg ta £ ts byttt
W - o [ [ [ T 1 [ 4
o T | e %
= RE :
e g 0V

44, HHF GES H 27 T Fooh 220 qIe W FAEAR Bl
1 o faoe= = 99 CERIG] T w9 EH ¥ faurg | 44-  Twenty seven drops of same size are charged at

o 220 V each. They combine to form a bigger drop.
1 UM l Calculate the potential of the bigger drop.
(1) 15204 1 1520V
@) 1980 d%E @ 1980V
3) 660dRE 3) 660V
(4) 132072 (4 1820V
45, UF wR foumremen § YREY T a9 5 MAZ E | 45, A car starts from rest and accelerates at 5 m/s2.
@id g B t:4ﬁﬂ;ﬂgq{wﬁa%wﬁﬁrm@ At t=4 g, a ball is dropped out of a window by a
e ez ¥ wra Freh st £ t=6 Qv Wik person sitting in the car. Whatis the velocity and
il j o 5. R acceleration of the ballatt=6g?
EQ AT &7 <0 ! (FEEI'[ =104l 2) (Takeg=10 I]lJ"ISE)
1) 202 AL 0 (1) 202 m/s, 0
@ 2042 HAL, 10 HLA.2 2 2042 m/s, 10 m/s?
(3 20¥A, 5 HLA2 @ 20 m/s, 5 m/s?
(4 2094, 0 (4) 20 mls, 0
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46.

47.

48.

TF #Uif LCR 9wy H 5.0 TR 1 UTH, SO TS
%z w1 9T qer 40 399 1 it 230 dee %
e sEfe % wered s 9@ 9 ¥ SR
FIvit agfa W wifem &t el v T w9

AT T HI HIA gt S
(1) 46 Iez/9., 54 Feg/4.
@) 42 {e=/9., 58 Team/4.
@ 25 de/4., 75 Wea /9.

(4 50 deF/9., 25 eg1/9.

T 200 911, TS 741 500 TH Zo79 6l T9H B
Th o9 % 40 9, W | d@gfaw e g1 @
2 T, 1 2= 25 ¥/ 20 4.1 | fafig fwm
ST & T U0 3796 §90E ‘m’ ¥ 9 160 9L
from @ frarfiaa foren STan 81 910 T ‘m’ A1 A6
0 B8 Uqer e ¥ Wl (g=10 M./4.2)

0 20em 40 em 160 em
JAN
2 kg m
(D) % ..
4 1 X
(2) g (Rl
1
® 3 |
1

T&F ‘m’ THAN HT F0 YL a8 § HHE 97
v=kV_(k < 1) & w&fa T smr g

(V, =TT o)
T SR U9 % T 9T SfEae = ©
R%k
(1) 1+k
Rk?
@ e
" \2
(3) R\E)
’ k N2
4@ R\m}

15

46.

47,

43.

05

A series LCR circuit containing 5.0 H inductor,
80 nF capacitor and 40 Q resistor is connected to
230V variable frequency ac source. The angular
frequencies of the source at which power
transferred to the circuit is half the power at the
resonant angular frequency are likely to be ;

(1)  46rad/s and 54 rad/s
(2) 42rad/s and 58 rad/s
(3) 2brad/s and 75 rad/s
(4)  50rad/s and 25 rad/s

A uniform rod of length 200 cm and mass 500 g is
balanced on a wedge placed at 40 cm mark. A
mass of 2 kg is suspended from the rod at 20 cm
and another unknown mass ‘m’ is suspended from
the rod at 160 cm mark as shown in the figure.
Find the value of ‘m’ such that the rod is in
equilibrium. (g=10 m/e%)

0 20cm 40 cm 160 cm
A
2 kg m
1) El;“ kg
2) % kg
® ke
@ ke

A particle of mass ‘m’ is projected with a velocity
v=kV,(k <1)from the surface of the earth,

(V. =escape velocity)

The maximum height above the surface reached
by the particle is :

R%k
(1) 1+k
Rl:2
2 p
O
k3
3 R -k
N oy
SRTMERT
S T
\1+K,

sh
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49,

50,

o1

92,

53,

54,

T STH=TAT SR ST 220 ST & Yeradi gid |

IS ¥, 11 AIee, 44 91 T 9 1 1 | ST

H i i K1 T AT g, YR aitey | ara

1 Bt 7

(1) 2TERER

2) 4T

(8) 0.2TER

4 0.4 TFRR

TS 12a TG 9o WAy ‘R’ &1 UM =& aF,

@ ‘a’ S o HHag Ayt au

() ‘a’ YN % ol & SHER I YRER Fosal §
Hrgr ST

U FHUSH! hl GraIhid fgyd v e § ¢

(1) 8Ia2qYl 4 Ia2

2) 4laZ q9r 3 [a2

3) J3laZaur3lal

@)  3Ia% 7Y Ia?

T - A ( TERFYIRA )

25 U= % T i sfufeen #1 ge
I U=-2-37 ¥ S99 3uig o fwtor smenf S
e

(1) BT Fam W

(2) BFA TEH @

(8) TS® e W

@ TR

‘C-X &9 F] 9 THed) =1 9 FH B

() CHy—F<CHy—Cl>CH,;—Br> CHy—1
@ CHy—Cl>CHz;—F>CHy,—Br>CH, -1
3 CHy—F<CHy—Cl<CHy—Br<CHg—1I
4 CHy—F>CHy-Cl>CHy—Br> CHy—1

site gfgan e, =3 fooehl 1 T WIH 1,368 kHz
(frett &&=1) =it sTgfe W YORY S<ar | HeRE
(ZiwHR) R Seafsia foga geeE fafem =
TOTCHA & : [T HT I, ¢=3.0x 108 me~1]

(1) 2192m

2y 21.92cm

3) 219.3m

4 2192m

Zr (Z=40) T Hf (Z =72) & WHIVaF U5 =6
o] T ¥ | SR R R

1) oFrS s

2 TF % A o g9 §

@) IE T TS % 9§

(4)  Torpul Ty

16

49,

50.

51.

52.

53.

54.

Hindi+English

A step down transformer connected to an acmains
supply of 220 V is made to operate at 11V, 44 W
lamyp. Ignoring power losses in the transformer,
what is the current in the primary circuit ?

1) 2A
@ 4A

@ 0.2A
@ 04A

A uniform conducting wire of length 12a and
resistance ‘R’ is wound up as a current carrying
coil in the shape of,

@ an equilateral triangle of side ‘a’.

) asquare of side ‘a’.

The magnetic dipole moments of the coil in each
case respectively are :

(1) 3IlaZand4Ia?
20 4la?and 31a?
(3) +3IaZand 31a2
(4) 3laZandIa®

Section - A (Chemistry)

The major product formed in dehydrohalogenation
reaction of 2-Bromo pentane ig Pent{-2-ene. This
product formation is based on ?

(1) Hofmann Rule
(2) Huckel's Rule
(3)  SaytzeffsRule
(4) Hund’s Rule

The correct sequence of bond enthalpy of ‘C—X bond
18 :
1 CH3-F<CH;-Cl>CHy3—Br>CH;-1

@ CHy—Cl>CHy—F>CHy—Br>CH,—1I
(3 CHy—F<CH,—Cl<CH,—Br<CH,-I
4 CHy—F>CH,—Cl>CH,—Br>CH,-1I

A particular station of All India Radio, New Delhi,
broadeasts on a frequency of 1,368 kHz (lalohertz).
The wavelength of the electromagnetic radiation
emitted by the transmitter is : [speed of light,
c=3.0x108 ms—1]

() 2192m
@ 21.92cm
@) 219.8m
4 2192m

Zr (Z= 40) and Hf (Z = 72) have similar atomic and
ionic radii because of :

(1)  lanthanoid contraction

(2)  having similar chemical properties
(3)  belonging to same group

(4)  diagonal relationship

sh

T
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55.

96,

97,

58,

59,

T (K) W SEAATHA # pK, To UHifeF o1

pK, A %AW 3.27 W6 4.77 7| SRATSsEI=m

WW$pHWWW%:

1 775

2 625

3 850

@ 550

e & | e weR B

() AT SO US TR 3T e 8 §

@ ufRATEe st afufFanie agd €, faew
w9 W 5 o gew fafea €1

(3) COFITS SMEEA % gOFT H UF 7 H g
T 1 URATS ST S1fe 1

@)  sifrmiy Fradsh SFomtae oo 3 sTeee |

T B £
e 14 TR 36 SI0l STICTehI ohi 3 Rl Wehah Shifaahal

il T & Tau g fawey ¥
1 2
2 3
@ 7
@ 5

T Wl A WIS ToRa ST HEh ST SITHehaH arIH
g

(1) 1900K 4%
2) HOOOKTH
3) 1200Kd+H
4 2200 KT+
i1

i v Yfgemie @ deril (AEies
tesifae) o & 2|

ITII :

OB Ud s SATe USERl (Ai9-TReh<®
T feR) ot F T

I Y o TR H A U e fased O 9w
SWAA |

(1) T I 98 T AT e 11 7o B
2 AT e B AT e 1 TE
(3) THi wmgT] TE wmAT I T |
4 SHRITITE HATII T

17
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The pKj, of dimethylamine and pK, of acetic acid
are 3.27 and 4.77 respectively at T (K). The correct
option for the pH of dimethylammonium acetate
golution is

QO 775
2 625
(3) 850
@ 550

The incorrect statement among the following
18 :

(1) Lanthanoids are good conductors of heat and
electricity.

(2) Actinoids are highly reactive metals,
especially when finely divided.

(3)  Actinoid contraction is greater for element
to element than Lanthanoid contraction.

(4)  Most of the trivalent Lanthanoid ions are

colorless in the solid state.

The correct option for the number of body centred
unit cells in all 14 types of Bravais lattice unit
cells is :

@ 2
2 3
@ 7
4 5

The maximum temperature that can be achieved
in blast furnace 1s :

(1)  upto 1900 K
()  upto 5000 K
(3) uptol1200K
4) upto2200K

(Given below are two statements ;
Statement I :

Aspirin and Paracetamol belong to the class of
narcotic analgesics.

Statement II :
Morphine and Heroin are non-narcotic analgesics.

In the light of the above statements, choose the
correct answer from the options given below.

D

Statement I 1s correct but Statement 11
is false.

(2 Statement I is incorrect but
Statement I is true.

(3) Both Statement I and Statement II are
true.

(4) Both Statement I and Statement II are
false.
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61,

62,

63.

64,

39 AT i gTH o fewant iRt & 9 T
ieh S TN 1 4R | e © ;

CH,
CHE':/ ““NH,

(1)

CH, CH,
cHy” N7 ScH,

CH,

(2)

CH,

@ CH  SNO,

@
BESISM F1 Uk deaiufea gaedf, grfeem, A

A 9 o9 0 o s FAT € ?
(1)  THI(y)

@ “EFm

@ SRE)

4  TH (o)

FreT sIgershl | | HiF ArTcHes Sigeish o g ffHa
o ST &7

1) A

@) A

(3) <UAE

@) EAE-66

S 9 F AW el TEEtE orfufeer % ufa

ST % HRT TS § | T T -4 310 F95 Hi

e |

1) S G gee afiET o9 2 2

@) I I % TR dle GHed F A 3=
TcH: SR © |

Spe T WeT | 1o fae ¥
g@@:ﬁ@f%w’mlﬁaﬂmfmaﬁdﬂéﬁ
|

Torelt T 3T (Raamier fafafes) wes i
H SReRE Ud ST fifwE it dem gy
gl fased ¥

©» 21

2 12,6

3 84

4 6,12

(3)
)

18

60,
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62.

63.

64.
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Identify the compound that will react with Hinsherg's
reagent to give a solid which dissolves in alkali,

CH,
O cuy  SNH,

CH, CH,
@ cuy ”‘“*IT " NCH,

CH,

CH,
@ CHY SNO,

CH, CHjy
@ CH Nm

Tritium, a radioactive isotope of hydrogen, emits
which of the following particles ?

(1) Gamma (y)
(2) Neutron (n)
@8) Beta(™)
(4)  Alpha(w)

Which one of the following polymers is prepared
by addition polymerisation ?

(1)  Novolac
(2)  Dacron
(3)  Teflon
(4)  Nylon-66

Noble gases are named because of their inertness
towards reactivity. Identify an incorrect

gtatement about them.

(1)  Noble gases have weak dispersion forces.

(2)  Noble gases have large positive values of
electron gain enthalpy.

(3)  Noble gases are sparingly soluble in water.

(4)  Noble gases have very high melting and

boiling points.

Right option for the number of tetrahedral and
octahedral voids in hexagonal primitive unit cell
are !

1 21
@ 12,8
@) 8.4
@ 8,12
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65.

66.

67.

63,

= i 971 o1 toEel 4 9 A gedast v

ST Toraraehl | Jersiiel & 2
O i wREs

@ =Rifa TR

®) FHiwrEH wRES

@ i RREE

f= & & =9 W o ™ O aeel 1 % fa
Cp Wd Cyy T TRl Hel¥l ol = FIA1 ¢ 7

) Cp=RCy
@  Cy=RCp
3 Cp+Cy=R
4 Cp-Cy=R

“fezd g e % g veldla e s 0w @
farea g |

(0 @ faee

(2 i faera

@)  NaClfoerm

@ T faee

=1 faretamt = =9 T

250 ml ST H 10 g THM (CgH,504) Tl HAF (Py),
250 ml ST&1 H 10 g & (CH,N,0) Fl Sera (Py)
TH 250 ml ST H 10 g GHE (C15H,,0,,) Fl ST
(Py) | 31 forcmrl o SR @i & ged %A H He
faweT %

() Py>P,>P,
@ Py>P,>P,
3 P,>P,>Py
4 P;>Py>P,

19

65.

66.

67,

68.

05

Among the following alkaline earth metal halides,
one which is covalent and soluble in organic
solventsis

(1)  Magnesium chloride
(2)  Beryllium chloride
(3) Calcium chloride

(4)  Strontium chloride

Which one among the following is the correct option
for right relationship between Cp and Cy; for one
mole of ideal gas ?

() Cp=RCy
@ Cy=RCp

3 Cp+Cy=R
4 Cp-Cy=R

The right option for the statement “Tyndall effect
18 exhibited by”, 1s ;

(1)  Starch solution
(2)  Ureasolution
(3)  NaCl solution
(4)  Glucose solution

The following solutions were prepared by dissolving
10 g of glucose (C¢H; 504) in 250 ml of water (P),
10 g of urea (CH4N,0O) in 250 ml of water (P5) and
10 g of sucrose (C;,H550:;) in 250 ml of
water (P5). The right option for the decreasing
order of osmotic pressure of these solutionsis :

() Py>Py>P,
@ Py>P,>P,
3 Py>P, >P,
@ P,>P,>P,
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69. S o f1om =1 T W e 4 S fafer i
TR 9 1 T vs. 3TEAH & TRRA R @
&
! q?%aq;’
o AN
& iy
A -
(L) =
&
&
Volume (V) —»
(dm?)
&
iy 600
@ 2§ S
5 0
&
Volume (V) —>
(dm?)
&
i 200
) a3 S
@
&
Volume (V) —
(dm3)
& (200 K, 400 K, 600 K)
@ % g
&
&
Volume (V) —»
(dm3)
70. G-I T T ei-11 4 1|
-1 11
@ PClg @ o feafieE
) SFg @) Freig gaads
(©  BrFy (i) STTEFEEBI
d BF,4 Gv) T fgffa
= few o fomred § 9 9@ SR |
1) (a)-Gii), (b)-@), ©)-iv), (d)-Gi)
2 (a)-Gv), ()-(iii), (0)-Gb), (d)-G)
@) (a)-(v), (b)-(ii), (¢)-(@), (d)-(i)
@ (a)-(1), (b)-111), (0)-av), (d)-Q)

20

69,

70.
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Choose the correct option for graphical
representation of Bovle’s law, which shows a graph
of pressure vs. volume of a gas at different
temperatures :

&
T SS
6
& >
WERE
(1) 5 @
ek
D
8
Volume (V) —»
(dm3)
&
5 g £) 600 K
o
¥
Volume (V) —»
(dm?)
&
® 53 200 K
Ll 00
£
Volume (V) —
(dm?)
& [(200 K, 400 K, 600 K)
e
© 3
£
Volume (V) —
(dm?)
Match List - I with List - I1.
List -1 List -1I
(@  PCly (1) Square pyramidal
(b) SFg (i) Trigonal planar
(@  BrFj (i) Octahedral
d BF, (v} Trigonal bipyramidal

Choose the correct answer from the options given
below,

1) (@-b), (b)-(), (©)-(v), (d)-Gd)
2 @-w), ()-(id), (0)-(d), (d)-@)
Q) (@-v), (b)-(1), (c)-Q), (d)-(D)
(4 (@@, (b)-[i), {)-@v), (d)-@)

T
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71

72,

et stfuferar AB & fou sifufirm =1 ot
— 4.2 kJ mol ~ ! U= G TEH 9.6 kd mol 1
T sfufeeen &+ fau w5 feafas o= w7

fameq o ufiig forar T 2
(1) PE f{/\B

Reaction Progress

4

i
! B
PEA

Reaction Progress

2)

1

h
T/\
PE B

A

T -
Reaction Progress

3)

A

iy
VAN
PE | A
B

Reaction Progress

€Y

a1

ety T fEu T SEHRET g §
HF << HCl << HBr << HI.

hRUTIL:

S-S g H Y M W TE F, Cl, Br, | 1 3THR
TeaT WAl € 99-99 HF, HCL, HBr U4 HI F 94 &1
Tereral Sl S & | ST STty wraed sl S ¥ |
S FEl o W | A= feu gu fawedi | 9 wet
A |

(1) wHATIHH T AfFT AT 11 7o B
2 HATI T & WiHT w11 T R
(3 oF Ul s wuT 11 93 €
@ THRITITE HATII T

21

71.

72,

05

For a reaction A—B, enthalpy of reaction is
—4.2 kJ mol~! and enthalpy of activation is
9.6 kd mol~1. The correct potential energy profile
for the reaction 1s shown in option.

A

JE\/\
A B

Y
Reaction Prugregs
A
AR
@) A
Reaction Progregs
M
PE /\
® e =
Reaction Prﬂgregs
A
PE /\
@ A B
Reaction Progregs
Statement I :
Acid strength increases in the order given as
HF << HCI << HBr << HL.

Statement I1 ;

As the size of the elements F, Cl, Br, I increases
down the group, the bond strength of HF, HCI,
HBr and HI decreases and so the acid strength
increases,

In the light of the above statements, choose the
correct answer from the options given below.

1)

Statement I i1s correct but Statement I1
iz false.

(2) Statement [ is incorrect but
Statement I1 is true.

(3) Both Statement I and Statement II are
true.

(4) Both Statement I and Statement II are
false.
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73.

74,

75.

76.

T7.

78.

1= T st § 7@ AR #
CH,

“CH- CH=CH,+HBr Cet15C0):0; 9
CH,”

CHj
L) JCH~CH - CH,

CH
9 Br
CH;
,
KCBI‘ —CH,—CH,
CHy

CHj
- _CH-CHy—CHy—Br
3
CHj
CH - CH, - CH,—0—-COCH;
CH;”
BF, U WHATI Td $Oa2H =T A ¥ HE
TRHTY] 1 G0 TG 39k TR SR Sea2 | ol G
%, SHHAT:
(1) sp2TH6
2 sp2TH8
3 spiUA4
4 sp?TIG6
= Tt sfufsen o ffde sEHE ifeE =
[UPACTE FNE?
(i) C,H;MgBr, 7% o1
SR Gi) H,0, H — e
(1) UeA-8-37d
@  2-°foe =g 2-3d
(3)  2-0fe gE-2-s1a
(4  UeA-2-37

ey FAES 3 39 T Ug 9o Sawen |
=AW E

(1) A foors wE Wi

@ <FH §Een

(3) THH: SEen ud fger

@) <HE &

Teaaadl Ge1id A ol A © :
(1) CyHO

@ C,H;0

3 CgHyo

@  CHgO

RRBC &t &, dar i 1§ -
1) Te=ifga B, =
@ faeifEa B, i
@) TR B,, H
(4) faerfa B =t

2)

3)

4)

22
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The major product of the following chemical
reaction is :

CH,
" CH-CH=CH,+HBr (Ce15C0),0; 9
CH;”

CHj3

(1) _CH-CH-CHj,
CH;4 ]I3r
CH;

2) _CBr—CH,—-CH;
CH,4
CH;

3) CH-CH,—-CH,—Br

i 2 2

CH,4
CHS\
CH,4

BF, is planar and electron deficient compound.
Hybridization and number of electrons around the
central atom, respectively are :

(1) sp2andé
() sp2and8
(3) sp?andd
(4) sp?andé

What is the ITUPAC name of the organic compound
formed in the following chemical reaction ?

(i) CoH;MgBr, dry Ether

Acetone — Product
(ii) Hy,O, H*

(1)  pentan-3-ol

(2)  2-methyl butan-2-o0l

(3)  2-methyl propan-2-ol

(4)  pentan-2-ol

The structures of beryllium chloride in solid state
and vapour phase, are :

(1) Dimer and Linear, respectively

(2)  Chainin both

(3) Chain and dimer, respectively

(4)  Linearin both

The compound which shows metamerism is :
(1)  CyHO

@ C,H,,0

@  CsHypy

@  C3HgO

The RBC deficiency is deficiency digease of
(1)  Vitamin B,

2) VitaminB,

(3) Vitamin B,

(4)  Vitamin Bg
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79.

80,

81.

82.

83.

84.

=1 srfuferensti O @ =9 g fasemm sifufern §2
e foremed < |

()  Fe+2HCl—>FeCl,+H,T

@  2Pb(NO,),—> 2PhO +4NO, +0,T

(3  2KCI0,—— 2KCl+30,

4  Cry0,+2A1—2— ALO, +2Cr

TH & Tre=Tam Tl Swuwr § fEae S g
(1) 60°

(2) o

(3) 120°

(4) 180°

NaCl, HC1 U8 CH,COONa &1 3Td d3d1 W Hier
HTeAehdl Ol 126.45, 426.16 T8 91.0 S em2 mol — 1
€1 37 T3 W CH,COOH 1 HieR =kl € |
(1) 69828 S emZmol 1

(2) 540.48 S emZ mol 1

(3) 201.28 S cm2mol !

(4  890.71 S emZ mol 1

=1 o & forw Tafy =61 SwivT o erafiss g aig =t
A TR e ST PN F AT RIS ?

1)  TEE
(2)  HESE IR
(3) fo=ga sTaereA
(4) ST

U FETH S B 78% (WX §N) FTET U 9

TRTSTd FIEEISH i /A1 & | 96 AiTes o Yerrgardl g3
w1 TS T & [T YR : C=12, H=1]

() CHy
@ CH,
(3 CH
@ CH,
2 6-SREUIA-SH-4-37 i Tal FEAT S ;

R
ra
F

79.

81.

82.

83.

84,

05

Which of the following reactions is the metal
displacement reaction ? Choose the right option.
(1) Fe+2HCl— FeCl,+H,T

@  2Pb(NO,),—> 2PhO+4NO, + 0,7

®  2KCI0,—>— 2KCl+ 30,

@  Cry0,+241—2 AL,O, +2Cr

Dihedral angle of least stable conformer of ethane

18 :

1 60
@
(@) 120°
@  180°

The molar conductance of NaCl, HC] and
CH4;COONa at infinite dilution are 126.45, 426.16
and 91.0 S em? mol ~1 respectively. The molar
conductance of CH;COOH at infinite dilution is.
Choose the right option for your answer.

(1) 69828 SemZmol—!

(2) 54048 SemZmol !

3 201.28SemZmol—!

(4) 390.71SemZmol !

Which one of the following methods can be used to
obtain highly pure metal which is liquid at room
temperature 7

(1)  Distillation

(2) Zonerefining

(3)  Electrolysis

(4) Chromatography

An organic compound contains 78% (by wt.) carbon
and remaining percentage of hydrogen. The right
option for the empirical formula of this compound
is : [Atomic wt. of C1is 12, H is 1]

() CH,
@ CH,
3) CH

4 CH,

The correct structure of 2,6-Dimethyl-dec-4-ene
18 :

Ry
e
L
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85. UfYE SEUHMEZIIEICE (EDTA) $T7M ¢ :

1) [N @RI % Y R e
@) TN g ATE! < iy e e
(3) ER“O” WE N TR YLATAT 3 HIY TSl
T
@) Uheq forre
ST - B ( THEAIA )
86.  |eit-1 1 fierm G=it-11 § & |
-1 11
@ 280, +0,— G T 9u
280,(®)
® HOCKg) _hv ) YA-HEY
OH+Cl
© CaCO,+H,S0,~ (i) SIS &0
CaSO0,+H,0 +CO,
@) NO, g _bv | Gv) slvHedE
NO(g)+0(g) aHm
= few v fomred 4 9 W& SR |
(L (&)-Gv), (h)-(id), (c)-(), (d)-(1)
(2)  (a)-(), (b)-(1), (¢)-Gv), (D)-{@)
@ (@-@), (b)-(), (¢)-(ii), (d)-Gv)
@  (a)-(1), (-1, (0)-av), (d)-Q)
87. THMETTE AfufEr ¥ e wH H sfiwdw R E
NH, Ny €1~
Er\©/3r NaNG,, HOI Br\<j/Br _RFBr\QBr
0-5C
Br Br Br
(1) HI
2 CuCN/KCN
® H,0
4) CH,CH,0H
88. CH,CH,COO Na* Na?gs * !, CH,CH,+
Na,CO,.
Sy stiufsran o erufd STt amH = uEaH |
1) Ca0d
2) DIBAL-H
3 B,H,
(4) A BERRH

24

35.

36,

37.

Br

88.

Hindi+English

Ethylene diaminetetraacetate (EDTA)ionis ;

(1)  Bidentate ligand with two “N” donor atoms

(2) Tridentate ligand with three “N” donor
atoms

(3) Hexadentate ligand with four “O” and two
“N” donor atoms

(4)  Umdentate ligand

Section - B (Chemistry)

Match List - I with List - I1,

List - I List - 11

(a) 250,(g)+0xg)— @O Acadrain
250,(g)

) HOClg)_ b , (1) Smog
OH+Cl

(¢ CaCO;+H,S0,— (iii) Ozone
Ca50,+H,0+CO, depletion

) NO,g __hv_, (iv) Tropospheric
NO(g)+ O(g) pollution

Choose the correct answer from the options given
below.

O @-0v), (b)-(iid), (0)-(), (d)-()
@  (@-aw), (b)-@), (©)-av), (d)-0)
@) @-0), (b)), (0)-Gib), (d)-v)
(9 (@@, (b)-([i), {)-@v), (d)-@)

The reagent ‘R’ in the given sequence of chemical
reaction is ;

NH, Ny C1™

Br NaNO,, HCI Br Br i Br Br

0-50C
Br Br Br
() HI
@  CuCN/KCN
@ H,0
4) CH,CH,0H
_ NaOH, + 7?7 |

CH,CH,C00 ™ Na* —252t——s CH,CH, +

Na,CO,.
Consider the above reaction and identify the
missing reagent/chemical.

1) CaO

(2) DIBAL-H

(3) B,H;

(4)  Red Phosphorus
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89.

90.

91.

92.

93.

gt werg =hife =t 21fferan = foau SR TR

[ln k vis %J FIATIN — 5 x 103K &1 safman

T B, o1 9 & | W ferered o |
(fezn T % : R=8.314 JK~ 'mol — 1]

() 166 kJ mol—!
@ —83kJmol?
()  41.5kJ mol—?
@  83.0kJ mol?
Geit-1 =1 frem g=i-11 |+ |
gelt-1 Het-11
(@) [Fe(CN)g3~ @  5.92BM
b  [Fe(Hy0)g3" (i) O0BM
©  [Fe(CN)g4~ (iii) 4.90 BM
@  [Fe(H,0)42" ivy 1.73BM
= U U fasredi A 9 WE S g |
1 (@-@), (b)-Gi1), (c)-(v), (d)-(1)
(2)  (@-v), (b)-G), ()-(41), (d)-(ii1)
3)  (@)-v), (b)-G), (©)-Q), (d)-(ii1)
@ (@-@), ©)-Gv), (©-ai), (d)-©)
Al & FeAfafen 79 8§ 9 S T T -E
THTE 2
(1) Mn2t, Fe2+
2) Fe2+, Mn2+
3 02, F-
(4 Nat, Mg2+

e § & Tora rereen 9, 379 |H- S0 10 I[0IeH o
3R, 3fom %9 & g ?

(1) NH;<PH, STATS T
< AsH, < SbH, gd w9 |

@ CO0,<8i0, STeRETERIT &7HdT <
< Sn0, < PbO, d w9 |

(3 HF <HCI AT AHS 6
< HBr < HI EESE

@ Hy0<H,S : pK, A & 9gd A
< HySe < H,Te k|

THaTd gl § R ey T % swRETe

T % T @l fasrea §

(1) AU=0, A8, #0

2  AU20, AS, =0

3 AU=0,A8,,,,=0

@  AU#0, A8, 170

25
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1
The slope of Arrhenius Plot [11:1 k vis T} of first

order reaction is —5x 103 K. The value of E o of
the reaction is, Choose the correct option for your
answer,

[Given R=8.314 JK~1mol ~1]

(1) 166 kJ mol !
(2) —83kdmol1
(3) 41.5kJmol?
4) 83,0 kJ mol~1
Match List - I with List -I1.

List-1 List-1II
(@ [Fe(CN)gl3~ @  5.92BM
(b) [FE(I‘I20)613+ @) OBM
©  [Fe(CN)gJ*~ (iii) 4.90 BM
)  [Fe(H,O)l?* (Gv) 1.73BM

Choose the correct answer from the options given
below.

L (@)-0), (b)-(iid), (¢)-(iv), (d)-(ii)
2 (@)-4v), (b)-(), (0)-(ii), (d)-(ii)
@) @-w), (b)-@), (©)-0), (d)-(ii)
@ @G, b)-(v), (©)-(ii), (d)-@)

From the following pairs of ions which one is not
an iso-electronic pair ?

(1) Mn2+, Fed+
(2) Fe2t Mn2+
(3) 02—, F-

(4) Nat, Mg2+

In which one of the following arrangements the
given sequence is not strictly according to the
properties indicated against it ?

() NH;<PH,4 Increasing
< AsHy < 5bH, acidic character
@ COy<Bi0, Increasing
< 8n0, < PhO, oxidizing power
(3y HF <HCI Increasing acidic
< HBr < HI strength
4 H,0<H,S Increasing pK,
< H,8e <H,Te values

For irreversible expansion of an ideal gas under
isothermal condition, the correct option is :

1) AU=0, AS, ;%0
@ AU#0, A8,y =0
3)  AU=0, A8 =0
@  AU#0, AS,,, ;720
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94,

95,

96.

97.

fau g amopet O 9 P SyEA UFEA wE?
(1)  ShCl,

@ NO,

8 POCIL

4 CH,O

1 T 3R F 0°C W e e fsed 4 ¢ 0, w6
2 g H, o 7€ 3, SU* Fal @ (atm H) F w0
forsreg =l < |

[T T : R=0.082 L atm mol~ 1K~ 1, T=273 K]

(1) 25.18
(2) 26.02
(3) 2.518
(4  2.602

45°C R T fao@a Toad s 1@ sfad 1 OieR
3T 3 ; 2 7, IHF A @ % H TRl fawen
e

[45°C T SwS119 1 9199 T 280 mm Hg T 3
% A9 9 420 mm Hg ¥ 37881 9 O]

(1) 336 mm Hg
2) 350mm Hg
(3) 160 mm Hg
@ 168 mm Hg
weit-1 =1 fete geir-11 | |

Heli-1 -1

CO,HCL
(a) et AICL () BO-HieTS-
CuCl SRt sl
0
(b) R—C-CH,+ (i) TEHE-HE
NaQOX — aqfaferan
(¢) R—CH,—-OH (i) Helrer srfafman
+R'COOH

AR HpS0,

(d) R-CH,COOH (iv) TE{E
B XA P
(i) HoO

1 fou o fasedi o 9 wE SO |
1 (@)-0), b)-(v), (©)-Gid), (d)-i)
2 (2)-Gi), (b)-(iid), (0)-Gv), (d)-()
@) (a)-(v), (b)-G), (-G, (d)-(iii)
@ (a)-Gii), (b)-(GD), (0)-@), ([@)-Gv)

26
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97.

Hindi+English

Which of the following molecules is non-polar in
nature ?

1) ShCl,
@ NO,

@ POCI,
@ CH,0

Choose the correct option for the total pressure
(in atm.) in a mixture of 4 g O, and 2 g H, confined
in a total volume of one litre at 0°C 15 :

[Given R=0.082 L atm mol ~1K~1 T=273 K]

() 25.18
@) 2602
(3) 2518
@)  2.602

The correct option for the value of vapour pressure
of a solution at 45°C with benzene to octane in
molar ratio 3: 218 ;

[At 45°C vapour pressure of benzene is
280 mm Hg and that of octane is 420 mm Hg,
Asgsume Ideal gas]

(1) 336 mm of Hg
(2) 350mm of Hg
(3) 180 mm of Hg
(4) 168 mm of Hg
Match List - I with List - IT.
List -1 List - 11
(@) COHCL 6 HalVilhord:
Anhyd.AlCly/ Zolinsk H
Cuci elinsky reaction
5
() R—C—-CH,+ (i) Gattermann-Koch
NaQO¥ — reaction
(c) R—CH,—-OH (i11) Haloform
+ R'COOH reaction
Conc. HQSD4 i
(d) R-CH,COOH (iv) Esterification
(i) XyRedP _
i) Ho0

Choose the coxrrect answer from the options given
below.

1) @-), (b)-(iv), (¢)-(iid), (d)-(ii)
@ (@-@), b)-ii), (¢)-iv), (d)-0)
@) (@-Gv), (b)-(), (c)-(it), (d)-(iii)
@  (@-aw), (b)-Q), (©)-Q), (d)-av)
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98. 0.007 M THifesws T w1 WAL =ATASGT | 98,  The molar conductivity of 0.007 M acetic acid is

20 S em?2 mol — 1 ¥ | wHifee a1 1 faiem feemi 20 8§ ecm? mol~ !, What is the dissociation
T %2 TR fawen o constant of aceticacid ? Choose the correct option.,
o 2 -1
A°,=3508 cem? mol ! AH+= 350 S cm™ mol
H
o 2 -1
A° =50 & em? mol 1 A _ =508 cm*” mol
CH5CO0™ Ll CHRGRO
()  1.75x10 %mol L.~} (1) 1.75x107% molL.—1
@  2.50x10~5mol L1 2 2.50x107° molL~!

(3 1.75x10 " *mol -1 3 1.75x10 4 molL.!

@ 250x10"*molL~! (4 2.50x10"% mol L}

‘ 99. The intermediate compound ‘X’ in the following
99, =1 vmrafTes srfufiran § qerer Seg X § chemical reaction is :

CH,

CH
a 30 + \\ H H30 + \"‘\. H
o CrOzClz—} X—= + CrOQle—u—} X—
Cl
-~
CH e
“\01 " O/ Cl

L

_~Cl

CH__
O/ xH o O/ o
3 O/CH(OCTUH%)E @) : _CH(OCrOHCl),

2)

@) CH(OCOCH,),

CH(OCOCH,), @ : p
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100. =1 Tt sifufea 4 fAfda s &
i 0
CHE—C_OCHS
NaBH,
cH, C,H;OH
OH H
e, G- cn,
(1) OH
CH,
OH 0
CHQ—&_OCHB
(2)
CH,
OH H
I
CHy~C~OCH,
(3) OH
CH,
0
CH,—-CH,-OH
4)
CH,
AU - A ( SHAfEE : ST )
101, S forad o <ma €7
1) T FEEEsE
@ T e g
(3) HIH
@ fESremed
102, TSN SSitedr & #rE YR fTeiaa = s
TRl &2
(1) SIdA(—);SAaB (—)
(2) SfdA (+) ;S B (0)
(3) SfdA (=) ;SdB ()
(4) SfdA(+);SAB(+)
103. TR % Fogak ¥ ey fafsr= vt &1 sTRu w8

o1 Tafi v =1 weEmneti o faio & fo fafi=
STORATST T STTER0T Hd & | S &THA1 &l A hal

SR ?

(1) gE=I
(2) gRgEEdr
(8) TR
(4 T

28

Hindi-English
100. The product formed in the following chemical
reaction ig ;
0 ’
CH,—-C-0CH,
NaBH,
CH, C,HsOH
OH H
F :CHE_¢_CH3
(1) OH
CH,
OH 0
CH,— ("3 —QCH;
@)
CH4
OH H
CH,— (:3 —OCH,
@) | | OH
CH,
O
CH,—CH,—OH
(4)

CH,

Section - A (Biology : Botany)

101. Gemmae are presentin:
(1)  Some Gymnosperms
(2)  Some Liverworts
(3) DMosses
(4)  Pteridophytes
102. Amensalism can be represented as :
(1) Species A (=) ; Species B(—)
(2)  Species A (+); Species B (0)
(8) Species A (—); Species B (0)
(4) Species A (+);SpeciesB (+)
103. Plants follow different pathways in response to

environment or phases of life to form different
kinds of structures. This ability is called :

(1)  Plasticity
(2) Matunty

(3)  Elasticity
4)  Flexibility
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104.

105.

106.

107.

108,

ey IRl § e 0 Sufteas 9 fan =
HFaOTE?

(1) T TR

@ e

(3 A

(4) 3T Tl

Frefafaa § @ a4t fawsm =t fea e §
TorEfeg o T B ¥ 2

(1)  GI=EEET - ]I
(2) 3 - 11
@) AT - ]

(@  HHEEE - 11

Freferfaa B 9 i 91 %9 Ted & 2

(1) UG STEeRTY], Faeh o 3T7aY SYTeed wareli
T FifirrTeen | Sufte veief ¥ ofiw sty
T HH H 2|

@) HEd B8, Few IR BIEEA F 9= A
et | W R AR svEd & faw,
ek 99 ] itd 1 W B

(3) Ui9Es = Afaw ael H U WE SRs
3R R iR ST B §

4) HAEME, KU IR Sl gFl § S

freafafes ° 9 =1 o FrRF U 99 BES 796
T AT & ?

1) FeUREd
(2)  SAaEren feerer
(3)  WrRideR ==
4)  SATETTR GARTSH
G- 1 & Gt - 11 < §rel GAferd wifs |
-1 -1
; . |E= sEEen | smepa
@) W | sfires srepior
. . |5 e % s
b} [P W IR SR
OREGKRE! (iii) |9 steren § et =i
@ |fa< &= (iv) Wiﬁ Rl
= fed T faedi § 9 W W g
@ (b)) © @
n @ @ @) @
@ @ @ @) )
@ @ @ @O )
@ v @ W O

104,

105.

1086.

107.

108,

05

Mutations in plant cells can be induced by :
(1) Gammarays

(2) Zeatin

(3)  Kinetin

(4)  Infrared rays

Which of the following stages of meiosis involves
division of centromere ?

(1) Anaphasell
(2)  Telophase Il
(3) Metaphasel
(4)  MetaphagelIl

Which of the following is an incorrect
statement ?

(1) The perinuclear space forms a barrier
between the materials present inside the
nucleus and that of the cytoplasm.

(2)  Nuclear pores act as passages for proteins
and RNA molecules in both directions
between nucleus and cytoplasm.

(3) Mature sieve tube elements possess a
conspicuous nucleus and usual cytoplasmic
organelles.

(4)  Microbodies are present both in plant and
animal cells.

The factor that leads to Founder effect in a
population is :

(1) Mutation

(2) Geneticdrift

(3) Natural selection

(4)  Geneticrecombination

Match List - I with List - II.

List -1 List -1I
. .. |More attraction in

(a) | Cohesion (1) T
Mutual at{raction

(b) | Adhesion (i1) |among water
molecules

(c) |Surface tension |(1i1) Wattarilosgmliguid
phase

Attraction towards

(d) | Guttation
polar surfaces

(v)

Choose the correct answer from the options given
below.

(@) (b) (@ ()
@ ay O G W
@ @ O Gv) )
G @ e ©
@ G @) @ @

collegedunia:s

India’s largest Student Review Platform

sh

T



05

109.

110.

111,

112,

113.

114.

115.

116.

YERTSTRTICTT o SO 9Ieyl H WeRTST 3 STeRTH o1 T
FHAHEE?

(1) e widH

(2) 9=t

3) e

4 aT

Fretafea | 9 9 9 o i 99— 735 8 7
1) e e

@ Tia-sE

3 &ia e

@ e

W1 I IF A F U, ST Fa67 Fd T T S
I w12 T T ® o9 9% Wi o e § 2
L EE AR

2) QR Ta

®

@ i fafwa

ShTel, TS, HRRE 3R Hies™y <Y diwesi &1
a1 H T, el fod 2w ¥ &9 Wk =t S
£
(1)
(2)

TR 3Ta]

T A

(3) =RY 7w

(4) =RHEHRH

TH Td H W9 i F99 HH & A iE 91 I8y
TREF ST § A S § 7

1) 2, 4-%

2) SRS

(3) HARTLY,

4 TAET,

TS 9% 94 T Reiforden IR gifcal, 2 TR %
SSTTY] SeTfed A & | U™ OISyl S S el ST § 7
()  HHSITE

@ oS

(3) THERH

@) SERH

frfafaa o 9, vifams e sifafran (b wfem)
% TRUT o I H1 WEt STIFT & 7

(1) 9O, THiwRaeR, et

@) Ao, TfsshEe, TER

3  THfSRIeRto, I, 9R

4) TrfSFEEw, JEOR, arEier

frefafaa # 9 S 91 9y syafemsd &2
(1)  BrHIEr giferars!

Q) HEHG Gl

(3) I 99T

@)
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The site of perception of light in plants during
photoperiodism is ;

(1)  Axallary bud

2)  Leaf

(3)  Shoot apex

(4) Stem

Which of the following algae produce Carrageen ?
(1) Redalgae

(2)  Blue-green algae

(3) Greenalgae

(4)  Brownalgae

When gene targetting involving gene amplification
is attempted in an individual's tissue to treat
disease, it is known as :

(1)  Molecular diagnosis
(2)  Safety testing

(3)  Biopiracy

(4)  Gene therapy

The amount of nutrients, such as carbon, nitrogen,
phosphorus and calcium present in the soil at any
given time, is referred as :

(1)  Standing state

(2)  Standing crop

3) Climax

(4) Climax community

The plant hormone used to destroy weeds in a field
18 ;
1 2,4-D

2 IBA
@) IAA
(4) NAA

Genera like Selaginella and Salvinia produce two
kinds of spores. Such plants are known as :

(1) Homosporous
(2)  Heterosporous
(3) Homosorus

(4)  Heterosorus

Which of the following is a correect sequence of
steps in a PCR (Polymerase Chain Reaction) ?
(1)

Extension, Denaturation, Annealing

(2)  Annealing, Denaturation, Extension
(3)  Denaturation, Annealing, Extension
(4)  Denaturation, Extension, Annealing
Which of the following plants is monoecious ?
(1)  Marchantia polymorpha

2  Cycascircinalis

3)  Caricapapaya

(4)  Chara
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117. S g1 g %1 Seured, IS %1 o eik
F, iR F, Tedl &I frfafaa § @ fea fo g
HHE ST AFAT & ?
(1) HE
@ Ao
(® TR
@ =

e W W, TfgteTd smEe |9 AfEich ST
& o o .48, fafew & sraig e S E aw
3 Y e § 2

118,

(1 = g
@) TS At atE
3 i ufga
(49 TSI AR ufE
119, Teot gorer frgd wi s €2
1 "X
@) = e SR A
(8) TENAN
(9 g
120. T - 10 gt - 11 3 w1y gofad Fifsw |
el - 1 el - 11
(a) [Sherzea deram (@) [qotererar
(b) [ITEH Sk HaEE (i) |92
(¢) |AR=H Hauq (iid) [SHEAHA
(d) [FemEA (iv) | Torem] e gy
= e T faehedl W | WE S g
@ (b)) ©
1 G v @ @
2 (v @) @ @
@ G v G @
@ G @O G ()
121, it - I 9= - 1T § gafaa it
Tl - 1 Tt - 11
(a) [Tt (1) : ';Ei’ﬁ A
4 .. |Ties 39 H Tetan-
b) |aasteiEas | (i) st g e
() |TpurgEfag | Gib) |[§esfen § siadfea
B GEEE I RIEE R
) |faz=t (iv) B e
= T T faedi 4 9w S g
@ (b)) ©
1 G av @ @)
@ G @) v @
@ v G G 0
@ O qav @) @)
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The production of gametes by the parents,
formation of zygotes, the F; and F, plants, can be
understood from a diagram called :

(1) Punnett square
(2) Netsquare

(3) Bullet square
(4)  Punchsquare

DNA strands on a gel stained with ethidium
bromide when viewed under UV radiation, appear
as :

(1) Darkred bands

(2)  Bright blue bands

(3) Yellow bands

(4)  Bright orange bands

Diadelphous stamens are found in :

(1) Pea

(2)  China rose and citrus

(3)  China rose

(4)  Citrus

Match List -I with List - I1.

List -1 List - II

(a) | Protoplast fusion (1) |Totipotency
{(b) |Plant tissue culture | (ii) |[Pomato
(¢) |Meristem culture (1i1) | Somaclones
(d) |[Micropropagation (1v) | Virus free plants

Choose the correct answer from the options given
below.

@ () @© (@@
H @ @ @ @@
@ v @ @ ®
3 @ @ G o
@ @ @ qGv) b
Match List - I with List - IT,
List -1 List - I1
(23| Cristae @ Primary constriction in
chromosome
, ... |Disc-shaped sacs in
F |11y lakoids (i) Golg1 apparatus
... |[Infoldings in
(¢) |Centromere | (iii) D S
Flattened membranous
(d) |Cisternae (1v) |sacs in stroma of
plastids

Choose the correct answer from the options given
below.

(@ (b) (@ ()
@O a w © 2o
@ @ a @ O
@ v @) @ 6
@ @ @) @ @

T
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122,

123.

124.

125.

126.

127.

128,

TS SR Wit & fau i yiwen §
viraer s9ATA T foem O =% ) erasio swm 82
1 feem
(2)
(3) HRUAT,
@ dlTm
HHIEHW GPP — R=NPP ¥ R &8 frefaa s g ?
(1)  9IEC0 heh
(2) vEaEE g
(3) Tafexw i
() HSTHEE
et - 1 1 et - 11 % oy gafad sifsw )
gt - 1 TEr - 10

(2) |aTaY OMELES!
(b) [k SHfazy () |gefE s
(© |fgdfta aege (iii) [T 1 STRE-TeH
(d) |kTeh (iv) -1t
T T3 T Taeedl W 9 wE S g

@ b)) @ @@
1 @ G G Q@)
2 vy @) @ @ Gi)
@ (v @ G )
@ ) @ G G
fr=fafen 9 @ =9 o, @@ R (dfas sEen
sTfufeRaT) = T SETAm T B 2
Q)  9uE 5 T OREE W IS
(2) S e = Ia1 S
(3) AR fe
(@) SF y=EEA
feafafrrd e o A S @ &+ &9 §
e B 8 ?
(1)  Ficdiad
Q) g
(8) THIFGG
(4  miaEiEr
I § CO, Frerliamo o vaen Tl g e ?
() T o7
2) ST
(8) UTSEdH A
(4) 3=
hia B fausidra gfaensf & aesR, gfaest F9

el Sl 3 29 I9sfemn & Toe wm = fafy =
g famem Bmr 2

(1)  HEveh

(2) 4

(3) WO favrsE
@ Tt e
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During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out ;

(1) Histones

(2)  Polysaccharides

(3) RNA

4 DNA

In the equation GPP —R=NPP
R represents :

(1)  Environment factor

(2)  Respiration losses

(3) Radiantenergy

(4)  Retardation factor

Match List - I with List - I1.

List -1
Lenticels
Cork cambium

List - 11
Phellogen
Suberin deposition
(e) |Secondary cortex |(i11) |Exchange of gases
(d) |Cork (iv) |Phelloderm

Choose the correct answer from the options given
below.

()
(1)

(a)
(b)

(@ () @©
O @ G v @
@ G @ @O D)
@ v O @
@ @ @ v @

Which of the following is not an application of PCR
(Polymerase Chain Reaction) ?

(1)  Purification of isolated protein
(2)  Detection of gene mutation

(3)  Molecular diagnosis

(490  Gene amplification

Which of the following algae contains mannitol as
reserve food material ?

(1)  Volvox

2 Ulothrix
(3)  Ectocarpus
1)  Gracilaria

The first stable product of CO, fixation in sorghum
18

(1) Succinic acid

(2)  Phosphoglyceric acid
(3  Pyruvicacid

(4)  Oxaloacetic acid

Inspite of interspecific competition in nature,
which mechanism the competing species might
have evolved for their survival ?

(1)  Mutualism

(2)  Predation

(3) Resource partitioning
(4)  Competitive release
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129. ST TR, TURA &t o 9UET S o A8 H | 129, When the centromere is situated in the middle of

feerg 2rar T 99 UT R FEAEI B 7 two equal arms of chromosomes, the chromosome
(1)  SHHSHFE ig referred as:
2 3T I‘H@_;‘:F (1) Sub-metacentric
EB; HETS] (2)  Acrocentric
@) Sl (3) Metacentric
o : (4)  Telocentric
180. TI{UFE STeRYT W UH Y&l SAEqatst YUrhy _ _ o
freafafead o R WaI@ E? 130, A typical angiocsperm embryo sac at maturity is ;
S I (1)  T-nucleate and 7-celled
%) ; FEF g: ; FifEE (2)  B-nucleate and 8-celled
53; S-é'lﬁ'clfl?? 3R T-E!—';'lma—ﬂ??{ (3) S8-nucleate and 7-celled

@) 7S IR 8 (4)  7-nucleate and 8-celled

131 Prefafarddeh 3 Taefrers ST T § 7 131. Which of the following are not secondary

metabolites in plants ?

(V) fore ,Eéi T, 4 ﬂ N (1)  Vinblastin, curcumin
@ TR, (2)  Rubber, gums
(3) A, HEME (8)  Morphine, codeine
@  THA 7, T (4)  Amino acids, glucose
132, | - I 1 Gt - 11 & 919 GATer Fife ; 132. Match List - I with List - IL.
'Q\iﬁ'—l -II List - I List - II
s AfET e T e (@) dCiel.ls. with actl.*:e cell @ :ifascular
a'ﬂ‘ a'lF-ﬁ Eﬁ E. @aﬁ | Sl<h :VlSlDl’l Cﬂ}?ﬂﬂl i EELeE
Al - Tissue having all cells s
T Fas ferad st (b) |similar in structure (i1) P
(b) | SR wr=mr 2w (i) [fasaiae and function
o 1 gfer 4 T € |5 ERenavng (iii) [ Sclereids
fafi=y g 3 different tvpes of cells
() T W (iii) | FepfafiE Dead cells with highly
- (d) [thickened walls and (iv) |Simple tissue
3!5 e A e usl narrow lumen
() [§dt e arell 9o | Gv) [T S Select the correct answer from the options given
EAEIEAD below.
2 23 7 oot § O Wl s gfu (ay (b (o @
@ ® © @ o4 % = ow
O 6 @ @ W Gy @ aw @
2 @) 3 v 0 @ @ @ @ (111)
@ @ ) @ @ @ @ @ G @
@ @ @ o 133, Which of the following statements is not correct ?
133, Trefafea 9 =9 91 %97 98 98 2 (1) Pyramid of energy is always upright.
(1) et o TRiae wea i g (20 Pyramid of numbersg in a grassland
A N 1@ e | den H e (3) E?rs;;tff ulfs Ef:f:st; in sea is generally
BRI :
: inverted.
(3) ng’ﬁa‘rﬂ'{ L WHW%??;? (4) Pyramid of biomass in sea is generally
@) T T SR W s S | upright.

134, TS URY % AR H WY &, T 91 99 % | 134, The term used for transfer of pollen graing from
aﬁ"ﬁz’]ﬂ TR AR &% AU e a9 5G T 3‘\?" g anthers of one plant to stigma of a different plant
o wrT & SR Ffien W 2ArEi 9§ fi= which, during pollination, brings genetically
YT & AT & S € 2 different types of pollen grains to stigma, is :

(1) WEﬁI aq{lw'nrﬁ"u“ (1) Chasmogamy
(2) (2)  Cleistogamy
(3 T (3) Xenogamy

@) S e (49  Geitonogamy
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135, Ho1 TagH (Ve SrA1) o ol yarg e &
@ (dna 2, mrNa 9, (@

(1)
2)
(3)

4)

(a)- ST TRIEFRT; (b)-SFNE;
(€)-FHT=OT; (d)-HTEH
(2)-TTGRIYT; (b)-FIFRT;
(c)-Tferep fenaT; (d)-TRA

(2)- WA TTHL; (o)-STIRTE;
(c)-UTIERHYT; (d)-FFH
(a)-FHII0T; (b)- T iR,

(&)~ 3TTNE; (A)-ITRIT

3T - B ( SHafeaa : srafafeasr )

136, W= - I s Geit - 11 o &y gAfera wifs)
et - 1 et - 11
(2) |S s7erEen @) [WEAT = Hyersor B €
(b) |Gz aTarEen (i) [Hftspa s
T faumeH iR
(©) |onia s | (ui) [S1 AT, wfasfaea &
U EH % 99 ST
(d) [G1 sTaeT (iv)|E1.TA. T, 1 Hiehiaehtu
T fed T faeedl | & wE W g
@ () © @
L v @© @ G
2 @ av @ @
3 ) @ @ v
@ v @ G o
137. HHHHEHI Sl A TG Fi Wil § AT,
TifeTASI- 111 %1 Sfae & & 7
(1) mRNA & eladi =l STAEd Fa1 e
2) H9d snRNAs T 3TIfEd @ ©
(3 rRNA (288, 188 3iR5.88) i TG el §
(4)  tRNA, 55 rRNA 3R enRNA Tl STfEa Fars
188. Wt - I I §qer - 1T % Wy gofed Sifsw )
i et - 11
(a) [9rdH @ |C=C fgary
(b) |=15ged a@r 37 | (i) | FERISEUER Y
(©) [eredten o | (i) [TeATgehIE TSR o
(d) |dietdFTss (iv) [Terze 9w
T fed T faeedl # 4 wE W g
@ b © @
L @ @ ) G
@ v @) @ G
3¢ v @© @ G
4 @O av) @@ @
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Complete the flow chart on central dogma.

@(bna 2 mrNa 9, @

D
2)
(3)
G

(a)-Replication; (b)-Transcription;
(c)-Translation; (d)-Protein
(a)-Transduction; (b)-Translation;
(¢)-Replication; (d)-Protein
(a)-Replication; (b)-Transcription;
(c)-Transduction; (d)-Protein
(a)-Translation; (b)-Replication;
(c)-Transcription; (d)-Transduction

Section - B (Biology : Botany)

Match List - I with List - I1.

List -1 List - II
.. |Proteins are
(2) |5 phase @ synthesized
(b) |Gz phase (i1) | Inactive phase
Interval between
(c) |Quiescent stage |(iii) |mitosis and initiation
of DNA replication
(d) |G1 phase (1v) | DNA replication
Choose the correct answer from the options given
below.
(@ (b «© (@
H G © @ @)
2 @ Gv) @) o
@ @ @ @ )
¢ ) @ @) o

What is the role of RNA polymerase III in the
process of transcription in eukaryotes ?

1)
2)
3)
)

Transcribes precursor of mRNA
Transcribes only snRNAs

Transcribes rRNAs (285, 185 and 5.85)
Transcribes tRNA, 5s rRNA and snENA

Match List - I with List - IT.

List -1 List -1I

(a)

Protein C=C double bonds

1)

(b)

Unsaturated

fatty acid (ii) | Phosphodiester honds

(c)

Nucleic acid (1) | Glycosidie bonds

(d)

Polysaccharide | (iv) |Peptide bonds

Choose the correct answer from the options given
below.

(D
2)
(3)
)

(a)
(1)
(iv)
()
@)

(b)
()
(1)
@
(iv)

(c)
(v)
L)

(i)

(1)

(d)
(1)
(i)
(i)
(1)

T
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139. ™IfeHS pBR322 H S amp® F 37T Pst] UidesH

140,

141.

142,

143.

TEY § S umdifaes gt guim &1 afg =

T5H &l - T a 1SS S8 o o, U 9 &
foq Fraftm fr wman ® iR ah wifsae =t

el A 4 faftma T i & 9

(O 39E I iR ° EE 8 S

@) THH W SHAF WA T U SEA H
Bl

(8) I U HIYER Sl T Uil T8 e
TR

(4) A RIEEReT 4 Teiiae ol =1 =
B &R Wy E - TR RS SoEa SO

Freferfaa A € for el o 30 9 7% 9 wel §
Tt €2

(1) O, et

@ i, ErgiEAE

(3)  OIWHT, It

(4)  HIUH, TEgiEAE

fefafar d A FFA T FH TR S ?

1) S SiE Sifaq qedi W R g § 578 garasiet
el S 2 |

Q) TS A AGHSAE B2 o SIS iR
Fel S et fafiree Fifteret | fefga =
TFd B

@) < Rl F Hagd ® HEF Ga9T FE
S B |

@) T THH W = ZHhI oh o d SIaw &

TATT T FRIIR T=-9 TR S e

FITereRrall % U Feiq | deiel vie & 36 S
T HHT T SR ITeh A] ERTSATTR! TIFH HL
THHT TEEF R FE TGS FHE Al Feafatdd s
T TdT ST SATSTohel S99 8 i ;

(1) SEdfad i SEres hed W T8 Tl
Fifer Tia H g6 IS W T8 T

(2) SR@fda Si9 RemEE fHed 9T T8 AT
Fifeh Tl H $HH I oIl & |

(3) SWRETdd S BT HF THed T ST §9
H et g

@  ScafEfda s wRrmEE e W) g 3w
w1 H et ¥

TEhT i THIHRLT

N, =N_e't H, e Tl Frefag T €2

(1)  TEHIde T = SR
(2)  SHIHfTe ST 1 $TTHR
(3)  HEH TR T IMHR
@) <] STk Sl STTH

35
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Plasmid pBR322 has Pstl restriction enzyme site
within gene amp® that confers ampicillin
resistance. If this enzyme is used for inserting a
gene for PB-galactoside production and the
recombinant plasmid is inserted in an ¥.coli strain

(1)  itwill lead to lysis of host cell.

(2) it will be able to produce a novel protein with
dual ahility.

(3) it will not be able to confer ampicillin
resistance to the host cell.

(4)  the transformed cells will have the ability

to resist ampicillin as well as produce
B-galactogide.

In some members of which of the following pairs
of families, pollen grains retain their viability for
months after release 7

(1) Poaceae ; Solanaceae

(2)  Rosaceae ; Leguminosae
(3)  Poaceae ; Rosaceae

(4)  Poaceae ; Leguminosae

Which of the following statements is correct ?

(1) Organisms that depend on living plants are
called saprophytes.

(2)  Some of the organisms can fix atmosgpheric
nitrogen in specialized cells called sheath
cells.

(3)  Fusion of two cells is called Karyogamy.

(4)  Fusion of protoplasms between two motile

on non-mofile gametes is called plasmogamy.

Now a days it is possible to detect the mutated
gene causing cancer by allowing radioactive probe
to hybridise its complimentary DNA in a clone of
cells, followed by its detection using
autoradiography because :

(1) mutated gene does not appear on a
photographic film as the probe has no
complimentarity with it.

(2) mutated gene does not appear on
photographic film as the probe has
complimentarity with it.

(3) mutated gene partially appears on a
photographic film.

(4) mutated gene completely and clearly
appears on a photographic film.

In the exponential growth equation
N;=N,e™, e represents :

(1)  The base of natural logarithms

(2  The base of geometric logarithms
(3)  The base of number logarithms

(4)  The base of exponential logarithms
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144,

145,

146,

147,

TR, seterd § SLuAT o °§ o fafire
WA § faaneti it veam @ 9l 81 39 fafire
T Rl T e ST 2

1) A FfFaareEe

) FEEIE ST,

(8)  STIE ELTAC

@ TREMITT

WY - I %1 W - 1 9 gAfea wifse |
= £ | Wy - 11

(2) | FEerpiEE | () [forgdiam

®) " (ﬁ)aﬁrﬁmwwﬁ

... |TE2ISE I AZe2 H

() |Pradgtore | (i) i

@ | | E“Efﬁ'“iﬁ" 'ﬁ'g*é';”“

T T3 T Taeedl | 9 wE S i
@ (b)) ©

(1 @@ @ @ @

2 v @ @ @

3 @ aa @O

@ @© @ @ av)

fr=fafen 5 9 @@ 3= g

(1) U STREH 39K H e o, T mRNA R
gfara ST B |

2  Tavea SiH-=aaen drerfEne = A am

(8) U7 O OfYe TaFEH ZEHERE ] hnRNA
% 3" O 9 i s &1

@) ST ° erEs Ft UiRdr W 9uh
% U 3R AT Ui S, Rho &R & 99
g g1 s

frefafaa 7 9 & 374 =1 gi

(1) A TaRuT et ShifSTeRr STt - SATRTge
Ffoam g & ym T EqEon
Foreior =t §

(2) SRS I WS At - TSl Hgaeh
ferforet 7g wifirewm si
B H o9 % HAFRE
=1 Tog Tt ¥

(3) =9 ! UGl i AR - SR HIHE
T 5 A &
EiED]

(9 Teaioras ufwai | - At Faw
HEgT gUSd,
T fufe aret a2
ISR |
oy g ¥

36
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144, DNA fingerprinting involves identifying differences

145.

1486.

147,

in some specific regions in DNA sequence, called
as :

(1)  Single nucleotides
(2)  Polymorphic DNA
(3)  Satellite DNA

(4)  Repetitive DNA

Mateh Column -1 with Column - I1.

Column -1 Column - 11

(a) |Nitrocoeccus | (i) |Denitrification

(b} | Rhizobizm (i) Conver%mn of -
ammonia to mirite

© | Thiobacitius | i) Con?rersmn of nitrite
to mitrate
Conversion of

(d) | Nitrobacter |(iv)|atmospheric nitrogen
to ammoma

Choose the correct answer from options given
below.

(@ (b) () (d)
o w @O 9 m @
@ G @) @ 6
@ @ @ O @
@ @© @ @ @)

Identify the correct statement.

(1) The coding strand in a transcription unit is
copied to an mRNA,

(2)  Split gene arrangement is characteristic of
prokaryotes.

(3)  Incapping, methyl guanosine triphosphate
is added to the 3’ end of hnRNA.

(4) RNA polymerase binds with Rho factor to

terminate the process of transcription in
bacteria,

Select the correct pair.

(1) Cells of medullary rays - Interfascicular
that form part of cambium
cambial ring

(2)  Loose parenchymacells - Spongy
rupturing the epidermis parenchyma
and forming a lens-
shaped opening in bark

(3) Largecolorlessempty - Subsidiary cells
cells in the epidermis
of grass leaves

(4) Indicotleaves, vascular - Conjunctive
bundles are surrounded  tissue
by large thick-walled
cells
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148, @Y - I I =W - 11 ¥ gofaa wifSw |

149,

150,

151.

152,

153.

W -1 W - 11

(a) %(:.;K(s;.ﬁ ror@B@+1G O EIRERY

) 9GK 5 CiAsGy (i)  ferferesd

© oGP g1 nhs4300 Gid ¥

(d) $§K2+2C’4A2—49{2} (iv) et

= T3 T fomeni ° @ e S g
@ b)) @© W

L @ @y @) W

2 v W @ @

@ @ ) @ @

@ @O W @

feafafer i I s T FA Toa e ?

1) T w1 ven 9y V % g g ¥

2  Surv=RE NS, Yaua H WA YEvr Se=
F &

(3)  SPTE YaE o SR, SRS i fhe s
STEE] O ST B

@ .21 El.(seseiw ufimgs Hwen) ),
NADH + H* & W& 37 | TA. 9. % 3 &7
T4 ¥ 31k U FADH,, § TFH ATP A9 g3 ¥ |

feafafer i IR T FA Toa e ?

() U e § PS 1 3R PS 11 SH1 2 ¥

(@) TR YRS BRI o PS 18R PS I M
it 2 €1

(8) ATP3RNADPH + H + 2Fi &l TR Th9 T
RIS o SR Gy ST e |

@ s - St § %ot PS 189 3R NADP
e =1 svE B 2

AU - A (Siieier ; wriurferr )
5707 5 {7 Wl o AR theRer o SE TR § 7

Q)  foefa = o o guR

(2) %—Wr{aaﬁﬁrﬁwﬁwﬂm
(3) &I O § GUR T

@ T ! YA § YR

T |1 TSR FieRg weferer & wEis o seom
¥ fore Saerl &7

()  TEHE
(2)  GrEEETS
(3) A

4

=1 o forr ~Tg A vl sTfeer) @rEet ua arfas
B ?

(1) T

@  SRfreifiEg
(3) e

@) EHieTreg

37
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Match Column - I with Column - 11,
Colunmn -1 Column - 11

(a) %gﬁ K501 voe o1 (1) Brassicaceae

(1) 6GK CeAsGy
T Ty

() *B(jP(a +3P3.30

@) ®3K,, ;CA;_ G,

Select the correct answer from the options given
below.

(11) Liliaceae
(111) Fabaceae

(1v) Solanaceae

(@ (b @© @
O @ @ v @
@ ) @) @ @ dbD
@ @ v @ @
@ @© @ @) @)

Which of the following statements isincorrect ?

(1)  ATPissynthesized through complex V.

(2) Oxidation-reduction reactions produce
proton gradient in respiration.

(3)  During aerobic respiration, role of oxygen is
limited to the terminal stage.

(4) In ETC (Electron Transport Chain), one

molecule of NADH+H™* gives rise to
2 ATP molecules, and one FADH, gives rise
to 3 ATP molecules.

Which of the following statements is incorrect ?

(1)  Granalamellae have both PST and PSII.

(2)  Cyclic photophosphorylation involves both
PSIand PSII.

(3) Both ATP and NADPH+H™* are
synthesized during non-cvelic
photophosphorylation.

(40  Stroma lamellae have PS I only and lack
NADP reductase.

Section - A (Biology : Zoology)

Which of the following is not an objective of
Biofortification in crops ?

(1) Improve vitamin content

(2) Improve micronutrient and mineral content
(3) Improve protein content

(4) Improve resistance to diseases

Which enzyme is responsible for the conversion of
inactive fibrinogens to fibrins ?

(1)  Epinephrine

(2)  Thrombokinase
(3)  Thrombin

4)  Renin

Which one of the following organisms bears hollow
and pneumatic long bones ?

(1)  Macropus

(2)  Ornithorhynchus
(3)  Neophron

4)  Hemidactylus
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154.

155.

156.

157.

158.

159.

160,

WA T YER] S 3 TR el Sureerd 2 ¥ 2

(1)  9RdTE T
PR 1 R T2 |
(8) R TSUA
(@) o= fereet

=1 el o = Taeset tsft =6t wafa = srfaa &
AT ?

(1) e 5 qen H=r siafee fomn guam 2
@ A AT T arfEe w1 futa § suftem 96t &
@) o A it - aft
@ 3 e Ui et ¥
g - 1 &l Gt - 11 a1y foerm &1 |
Tl - 1 el - 11
@ |wedfrr |0 |garfa
(b) | Fergera (i) [Tt g5 A
(c) | THEmEEeEAr | (i) |Sitfaa <itarem
() | Famarer (iv) [STperEH
= faeredt @ Sfera 39 =1 =93 34|
@ b © «@
) @ Q@) Gav Q@
2 @© @ (@ @
3) @ G @ (iv)
@ v @O (@ @

TReEfeR TEiA S oA . % Tt =1 e =
T SR SR HH FETE ?

) ATk Hes H IR

(2) T I TREIETHEER HITSRTT

(3) ST Tl oI

@ e ufeTareniod w i

e T Tohg ot HierE A9 o ToTu 9T il Sy & 2

1) I

(2)  HivHSH

8 wWTwEH

@) FHAUHSA

Fiugrsti 4 sHaEHrafaT a9 % fau 95

qRicafa 1 == |

(1)  F=pO,, FApCO,, FFH +, ST S awHH

@ TEpO,, FEpCO,, sAfum H+, Uz 3=
A9

3 =0y, FFpCO,, FFTH*, STUeFd 0 A

@ T p0,, T=pCO,, SR H+, 3TUHd 3=
qIaH

TR g AR §

(1) “R™EH

2) FEAY

(3) STREIWR

@ AFEH

38
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Receptors for sperm binding in mammals are
presenton:

(1)  Perivitelline space
(2) Zonapellucida

(3) Coronaradiata

(4)  Vitelline membrane

Which of the following statements wrongly
represents the nature of smooth muscle ?

(1) Communication among the cells is
performed by intercalated discs
(2) These muscles are present in the wall of
blood vessels
(3)  These muscle have no striations
(4)  They are involuntary muscles
Match the following :
List -1 List - II
(a) | Physalia (i) |Pearl oyster
(b) | Limuilus (1) |Portuguese Man of War
(c) |Ancylostoma | (iii) | Living fossil
() | Pinctada (1v) | Hookworm

Choose the correct answer from the options given
below.

(@ (b) (e} (d)
O @ @) v O
@ © v @ @
@ @ @ O G
@ G @0 @ @

Erythropoietin hormone which stimulates R.B.C.
formation is produced by :

(1)  The cells of bone marrow

(2) Juxtaglomerular cells of the kidney

(3)  Alpha cells of pancreas

(4)  The cells of rostral adenohypophysis
Dobson units are used to measure thickness of
(1)  Ozone

(2)  Troposphere

(3) CFCs

(4)  Stratosphere

Select the favourable conditions required for the
formation of oxyhaemoglobin at the alveoli.

(1) High pO,, high pCO,, less H*, higher
temperature

(2) Low p0Q,, low pCOy, more HT, higher
temperature

3) High pO,, low pCO,, less HT, lower
temperature

4) Low pO,, high pCO,, more HT, higher
temperature

Succus entericus is referred to as :

(1)  Gastricjuice

(2) Chyme

(3)  Pancreatic juice

(4)  Intestinal juice
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161. T & =F TEA Hi=es TR S ETIEH g7 161, Which one of the following is an example of
(1) Cu7 Hormone releasing TUD ?
@ TdE 375 @) Cu?
@  CuT (2)  Multiload 375
@ CuT
@ ERG20 4) LNG20
162. S - I el - 1 = Ter fretm ifs 162. Match List - with List - IL.
e - 1 el - 10 List - I List - 1T
. [TraterE viten # e < .. |Entry of sperm through
) [fe= 9 To9T T Uhd € | (a) [Vaults ) Cervix is blocked
b) |oE g S (i) [SFFoTEH I B (b) |[TUDs (i) |Removal of Vas deferens
MEEIEET ... |TTterE H grshropsi <kl .... |Phagocytosis of sperms
(©) I (i) '*IWTE%RH () |Yasectomy [GI) within the Uterus
@ |Afemm w7 | v Tereanfet Afasr =i (d) | Tubectomy |(iv) |Removal of fallopian tube
- Lkl Choose the correct answer from the options given
=1 Tareredl | WEt SR 1 =T W | below.
@ b © @@ @ (k) @ (@
Q @ @) G G Q@ v G @
@ @) @ v () @ @ O @ o
3 (v ) @ (i) @ @ @ @ @
@ O @) (@ aGv @ @ @ @ G
163. 99 O =19 g o T e ? 163. Which one of the following belongs to the family
(1) ﬁaag Muscidae ?
@ T (1)  Cockroach
@ W (2) Housefly
4) ﬁg{ (3) Firefly
(4)  Grasshopper
164. FSt - 1 ol - 11 % Fef fieq 1 164. Match List - T with List - IL.
e - 1 T - 1 List - I List - II
(a) |TOEETTT (1) =@l (a) |[Metamerism i) |Coelenterata
o) |- Gi) [SFem (b) |Canal system (i) |Ctenophora
: (c) [Comb plates (i) |Annelida
(© m L (i) [TtersT (@ [Cnidoblasts Gv) |Porifera
(d) [ ifr (iv) | Choose the correct answer from the options given
=1 fomrei o T sfaa ST 1 =99 T | below.
@ () © @ @ (b) ( ()
Q @) @) G 6 O @ @ @ o
@ v @ (@ @ 2 @@ @ 3G @y
@ v G @O i) @ @) @ © W
@ G v @O G @ @) G O @
165. ‘AR’ A Wa; =faaEr =t we e 39 wed © 7 165. Persons with ‘AB’ blood group are called as
(1) RBC T T A U5 W1 B ufered #1 suftafi 3 “Universal recipients”. This is due to:
0 (1)  Presence of antibodies, anti-A and anti-B,
o B e s E:ljtlﬁ'ﬂﬁ[ on RBCs
@ a;;m? ﬁ?ﬂ—A Ll -@_B il (2)  Absence of antibodies, anti-A and ant1-B, in
T y plasma
) gBC il TTE W ATHB F ! (3)  Absence of antigens A and B on the surface
R of RBCs

) AIHT H TS A TSl B =R e & rmm (4)  Absence of antigens A and B in plasma

T
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166.

167.

168,

169.

170,

171.

=T et 0 Ul |

(@) HISHaE HiEE F T ST S

b) UEEHEH TR e e S
©  Tirersidl § e w1 T ST 9 S ¥

FAER § 3ultem shed T urer H
A qigehTe SRl
(€) o1 HogT o USRHeH i fatersar 2l &1
= faredl 9 sfora S92 o1 ==[ 31 )

1) (), (d) T () TIE

@ (), (T () FIE

Q)  (©, (d)TE () W T

@ (@), (b) T () WL F

STHMHE ] I ST WiHAT H i 61 USIEH TRV,
SR wE 9T T ST S 2

1) 3T T S

@ ST

(3) Bl T U R T UF U it

@) BT TR MR SR U e

3T ereRiferT el Sufeer B 8 2

(1) Se-uias iy

@) SR & TR |y

(3) T afy

@)  IFa TR Tt TE Eui iy

Figwiat (forawor woet) | SeRisA (0,) T FET
ggaﬁm (COy) 1 SAF TE (mm Hg ) Bl

(d)

p0y =95 T pCO, =40
pOy=159TApCO,=0.3
pOg=104TEpCO,=40
POy =40 TWpCO, =45

1)
@)
(3)
4)

7= ° UEA d9veew & U FH1 91 RNA 9995
TE 8?7

() rRNA

(2) «iRNA

(3) mRNA

(4) tRNA

TS hdl 15701 BraT © ?
(1) TEIEen

@) G

(3) S-HEE]

(4) e

40
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Read the following statements.

(a) Metagenesisis observed in Helminths.

(b)  Echinoderms are triploblastic and coelomate
animals.

(¢) Round worms have organ-system level of
body organization.

(d)  Comb plates present in ctenophores help in
digestion.

(e) Water vascular system is characteristic of

Echinoderms,

Choose the correct answer from the options given
below.

(1) (a), (d) and (e) are correct
(2)  (b), (c)and (e) are correct
(3) (c), (d) and (e) are correct
@  (a), (b) and (c) are correct

Which 18 the “Only enzyvme” that has “Capability”
to catalyse Initiation, Elongation and Termination
in the process of transcription in prokaryotes ?

(1) DNA Ligase

(2) DNase

(3) DNA dependent DNA polymerase

(4)  DNA dependent RNA polymerase
Sphincter of oddiis present at :

(1)  Gastro-oesophageal junction

(2)  Junction of jejunum and duodenum

(3) Ileo-caecal junction

(4)  Junction of hepato-pancreatic duct and

duodenum

The partial pressures (in mm Hg) of oxygen (Oy)
and carbon dioxide (CO,) at alveoli (the site of
diffusion) are :

(1) pOy,=95and pCO,=40
@  p0Oy,=159and pCO,=0.3
B)  pOy,=104and pCO,=40
4) pOy,=40and pCO,=45

Which of the following RNAs is not required for
the synthesis of protein ?

(1) rRNA

(2) =iRNA

(3) mRNA

4 tRNA

The centriole undergoes duplication during :
(1)  Metaphase

(2) Gy phase

(3) S-phase

(4)  Prophase
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172. Tt - I 60 g - 11 % o fem 0
Gl - 1 gEr - 11
(a) | degefomra TR (1) |udifes o7
b) | eeiziEr oferd (1) |Sfes ov
©) | goregifeas sgerfasy (W (fafes e
(d) | eHaeiadfigorg (iv) [sgfefier s
=1 Taareyl 9 3tad 39 s =91 394
(@ (b (@ @@
L @ @ @O )
@ vy @ @ i)
3y G @ av) @)
@ @O G @) G
173. ooz & deiu o = @t fafvread smfem €2
() ORI 7-9 T 786k (U ST Hhiss 91 & |
@ =F e H gud wWe A# R oW T W
(3)  HHIF UE UYEIH % Ul el 9 WSy e
%1 T 99 Bl £
@  STIUEE gE YRl gR aEE T W o a g
174, 3o & G o 3faa ooy =1 w9 =0
(@) O e o H-ene T BT |
G R ¥ T T gEniE ¥ safed $geiy |
H-UeEe B B |
©  TF-3geE F H-Tere g R
(@) IH F T-URRES T H-UCRS SRACHES
S g TRENE S e B
=il TeQ T fereredl 9 W e ST 1 =
) Emegso
a
(3  FEe (b) W (d)
@ ¥ (b) W (o)
175. O Hi 277 % SUEN 9 SiF yaEE w1 Afafm & S
g JARY H = qI9AE I T8 &l 99 FE o
Y1 HT TR 1 S 91 =0 IS YHIfad 807 2
(1) s
(2) I
(3)
(4 WER
176. Seiehred Tomfara faeer St dfemm Ui wify =i vanfEa
F § U 5% R0 e U d FHE uE
TETSI i1 ©, hooldl &
(O TEetE afaw
@) TR
(3)  dfsny
4  UsfE g
177. T 91 % 9ol STIR < fon 5@ oRfies fem w
Tkt g <t Ter oigd weayul &1 = g =

Hi emfaess Fiem qehien SR vg= & T agd
ST & 2

(1) ELISA &

(2)  HEHO AR

(3)  OFEA ST eI
@ WA AN TR

172,

173.

174.

175,

176.

177.

Q5
Match List - I with List - IT,

List -1 List - II
(a) |Aspergillus niger (i) |Acetic Acid
(b) |Acetobacter aceti (ii) |Lactic Acid
(c)|Clostridium butylicum |(iii) |Citric Acid
(d) | Lactobactilus (iv) |Butyric Acid

Choose the correct answer from the options given
below.

(@ (b)) © )
d @ a @ v
@ ) @ @ Q@
@ @ @ av @
@ @O @ @) @)

Which of the following characteristicsis incorrect
with respect to cockroach ?

(1)  Infemales, 7th-9th gsterna together form a
genital pouch.

(2) 10th abdominal segment in both sexes, bears
a pair of anal cerci.

(3) A ring of gastric caeca is present at the
junction of midgut and hind gut.

(4)  Hypopharynx lies within the cavity enclosed

by the mouth parts.
With regard to insulin choose correct options.

(a) C-peptide is not present in mature insulin,

(p)  The insulin produced by rDINA technology
has C-peptide.

{¢)  The pro-insulin has C-peptide.

@) A-peptide and B-peptide of insulin are

interconnected by disulphide bridges.
Choose the correct answer from the options given
below.

(1) (a), (c)and (d) only
(2) (a) and (d) only
3  (b)and(d) only
(4) (b) and (c) only

During the process of gene amplification using
PCR, if very high temperature is not maintained
in the beginning, then which of the following steps
of PCR will be affected first ?

(1)  Denaturation
(2) Ligation

(3) Annealing

(4)  Extension

Chronic auto immune disorder affecting neuro
muscular junction leading to fatigue, weakening
and paralysis of skeletal muscle is called as ;

(1) Mpyasthema gravis
2)  Gout

3)  Arthritis

(4)  Muscular dystrophy

For effective treatment of the disease, early
diagnosis and understanding its pathophysiology
is very important. Which of the following
molecular diagnostic techniques is very useful for

early detection ?

(1) ELISA Technique

(2)  Hybridization Technique

(3)  Western Blotting Technique
(4)  Southern Blotting Technique
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ek X 37T A1e1 ST S SHITSTehT STLeRT % ST & o
Terorrprarsit ¥ 3 epor § Sea=1 wafa =1 feran wiera
R B 7

1) 25%
2  100%
@) 50%
) 7%

eI 979 i g |
1) A :
2 g7 -
3 TUEHEARSH - FEM

@ fam - T

SR Yafereen w1 ®H H e w faie agn
FTBUSHE] T SUEHa & ?

(1) URIfasRA

(2) Helum

(3) TguE

4) IHUE

sin:fafeom 93 o 99 § wifvmsn wfimfae Sa €72
(1)  Tiiest G, YR, TFEEH T8 TaTHE
(2) Ties WY, Siagsdl S, gahomE &

FFRFAEAT A
fifem

AT
qeel ST, el Ay, T HE &
TG

7fg TF S U T 9] § ST W O 30% § 9
ATIHIA, TR Te WEerEH faRe wikee g ?

) T:30:G:20;:C:20

2 T:20;G:25;C:25

3 T:20;G:30;:C:20

(4) T:20:G:20;:C: 30

TEHEE i T HIVEH H 8 IPEA (2n) B
IS Tl FosTT=I =t Siauaen it G, e 5 U
I WA 8 § TF S—JToRT 3 A U ol W& 1
B ?

(3)
(@)

LV 4

@) 32

@ 8

@ 18

ot T Fereds g WA B E 7
(a) Al o TR |
(b) KA AR % & I6H |
©  ERHd Y 9o H

@) T=A9

(€  aIT |
ﬁﬁﬁaﬁ'ﬁ@m@[ ST HT FIT F |
() FA B) T (©)

(2 A (2) T (o)

Fo (2), (b) T (0)
eI (b), (¢) T (d)

(3)
4)

178,

179.

180,

181,

182,

183.

184.
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In a cross between a male and female, both
heterozygous for sickle cell anaemia gene, what
percentage of the progeny will be diseased ?

1) 2%

(2) 100%

3) 50%

4 7%

Identify the incorrect pair.

(1) Lectins - Concanavalin A
2)  Drugs - Ricin

(3)  Alkaloids - Codeine

(1) Toxin - Abrin

Which stage of meiotic prophase shows
terminalisation of chiasmata as its distinctive
feature ?

(1)  Diakinesis
(2)  Pachytene
(3) Leptotene
(4)  Zygotene

The organelles that are included in the
endomembrane system are :

(1)  Golgi complex, Mitochondria, Ribosomes and
Lysosomes

()  Golgl complex, Endoplasmic reticulum,
Mitochondria and Lysosomes

(3) Endoplasmic reticulum, Mitochondria,
Ribosomes and Lysosomes

(4)  Endoplasmic reticulum, Golgi complex,

Lysosomes and Vacuoles

If Adenine makes 30% of the DNA molecule, what
will be the percentage of Thymine, Guanine and
Cytosine in it ?

(1) T:30;G:20;C:20
2 T:20;G:25;C:25
@3 T:20;G:30;C:20
4 T:20;G:20;C:30

The fruit fly has 8 chromosomes (2n) in each cell.
During interphase of Mitosis if the number of
chromosomes at G, phase is 8, what would be the
number of chromosomes after S phase ?

1 4

2 32

3 8

4 16

Veneral diseases can spread through :

(a)  Using sterile needles

(b)  Transfusion of blood from infected person
(¢) Infected mother to foetus

d) Kissing

() Inheritance

Choose the correct answer from the options given
below.

(1)  (b)and (c) only
2)  (a)and (c)only
3) (a), (b)and (c) only
4) (b)), (c)and (d) only
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185,

186,

187,

e fafyre wg=m sgw e S ¢ BRI
Y v U i fafyre T o weq & faw gg=mn s
T, 1 FEAET & 7

1) Ueireias giFasieEs 15T
(2) Hg (W) Y= SFIFA
(3)  SAIFIEd YR 3ThH
@) ISR ST
I - B ( SirafeaR ; wrivrferT )
WAL TR AUG HifarH wa Hia-Tent
T FE AET F F |
F®UAII: AAA TF AAGQ SFT Tehe THAT 37

AT o1 e oI o7 € |

S FUA F oMER R = farei | w8 s
=T H

1) AT I T | T e 1 T §

2) HAT] T B A e I HE 7

@) oF YT I g % I 99 )

@) T wmITI UE w11 T §

HYT F S § Heift Fo § U MR

(@) IE HE HI THA F HE HATE |

0 TSR G RR I Wi § 188 il § foam
7 11 Hehal §

(© % U Hol WL g

@ e IR o YU G 2

= fareii 9 Siem SO = =ea =4

O (@), b), ©) T ()T

@ b)) =T

@ (@, ()T () T

@ (2, (b) @ (d) T E

188, Wit - I =1 =it - 11 & 19 Toetr =641 |

T - 1 et - 11

(@) |wgeifiafaw (O |s9fpeg FRge

0 [epfmar | | zzmigmeerr

© [t | | gt Fmrer

(d) [firard () | gzerftar feediferfean

=1 fared & Sfora sw o === 300
@ (b)) © @

L © @ §G» @)

@ @ @ @ v

@ v @O @@ @

@ (@ v @ @
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A specific recognition sequence identified by
endonucleases to make cuts at specific positions
within the DNA is :

(1) Palindromic Nucleotide sequences
(2)  Poly(A) tail sequences

(3)  Degenerate primer sequence

(4)  Okazakisequences

Section - B (Biology : Zoology)

Statement I :

The codon ‘AUG codes for methionine and
phenylalanine.

Statement II :

‘AAA” and ‘AAG both codons code for the amino
acid lysine,

In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement I is correct but Statement I1
is false

(2) Statement I is incorrect but
Statement I is true

(3) Both Statement I and Statement II are
true

(4) Both Statement I and Statement II are
false

Following are the statements about prostomium
of earthworm.

(a) It serves as a covering for mouth.

(b) It helps to open cracks in the soil into which
it can crawl.

(¢)  Itisone of the sensory structures.

(d) TItisthe first body segment.

Choose the correct answer from the options given
below.

ey
)

(a), (b), (¢) and (d) are correct
(b) and {c) are correct

(3) (a), (b) and (c) are correct

4  (a), (b) and (d) are correct

Match List - I with List - I1.
List -1

List - II

Haemophilus
influenzae

it
(ii)
() (iii)
(d) (iv)

Choose the correct answer from the options given
below.

Filariasiz

(a)
(b)

Amoebiasis
Pneumonia

Trichophyton

Wuchereria bancrofti

Ringworm Entamoeba histolytica

(@) (b) (0 ()
O @ G Gv) @)
@ @ @ @© @)
@ @ O @ @
@ @ e © o
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189, ®AT(A): 1§ UFH SHGd 3= QAT W ST & 99 | 189, Assertion (A) ;

g T AR EE Sl e o H A person goes to high altitude and experiences
FHiGAE TH To% &I USHA 91 HegH ‘altitude sickness’ with symptoms like breathing
FETE difficulty and heart palpitations,
FHROT(R) : =9 G R 1 aRgHEe ™ S & &R Reason (R) :
T oK1 =TS SRS TRl THe 9T | Due to low atmospheric pressure at high altitude,
?-"ZFJ.EH T & e 3 e faemed §f § 9e TR the body does not get sufficient oxygen.
T In the light of the above statements, choose the

correct answer from the options given below.

(I) (A) is true but (R) is false

@)  (A)isfalse but (R) is true

(3) Both (A) and (R) are true and (R) is the

1) (A) 99§ afF (R) 39 £
2) (A) IHH T AfF (R) I &1
3) TF (A) T (R) 99 € W@ (R), (A) =i 3f@

. & . correct explanation of (A)
@ < (A) T (R) 5H € e (R), (A) = (4)  Both (A) and (R) are true but (R) is not the
3fem =T TE 2 correct explanation of (A)
190. =it - I s =it - I & &g faem &1 | 190. Match List - I with List - II.
E?IFT—I 'q:ﬁ"]'_I[ List -1 List - II
(a) % G | 77 Eﬁ?,‘ (a) Scapvla (1) Cartilaginous joints
— (h)|Cranium (11} |Flat bone
(b) [+ (i) [T e (©)[Sternum T |Ebrone nts
(c) | 3Ufesr (i) [@ita Srg (d) [Vertebral column|(iv) | Triangular flat bone
Q) |F3F <5 (iv) TR =9t sifey Choose the correct answer from the options given
below.
= foredi © 9 Sfo@ S 999 T4 oW
" d @ (b @
@ O & 9 O G @ @ 0

1 @ @ G @

: e : @ G w W o
O O @ @ o ® 0 W @ o
@ @ ) G G @ G G v @
pis 191. Following are the statements with reference to
191. fafire & wefya wu = fo o ) iy

@ U fafts = Foa tea omey 26§ S

ST T ST Y (a)  Lipids having only single bonds are called

unsaturated fatty acids.

() Al WS © | B TSR SRR

(@ IEEEgEE EIRERIGEAG RS {¢)  Trihydroxy propane is glycerol.

@ uiferafes sma 7 wreifeaa wEA afed (@  Palmitic acid has 20 carbon atoms including
20 FET & TLH Rk carboxyl carbon.

(@) TR 3T T 16 FTe TIHM] AL ()  Arachidonic acid has 16 carbon atoms.

7= foeredl 9 STea S 991 HU | Chooge the correct answer from the options given

(1) FA B T () below

@) e ®) w @) (1) (b) and (c) only

8) FAA (a) T (h) g (anceonly

(3) (a) and (b) only

@ FH QW@ )  (cyand(d)only

192 | ISt ot el 0w ? 192. The Adenosine deaminase deficiency results into :
(1) T foR (1) Digestive disorder
@ TEEH O (2)  Addison’s disease
@)  ufRed o R g (3)  Dysfunction of Immune system
@) i (4)  Parkinson’s disease
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193.

194,

195.

Ut Heper F B i e Bt € 2

@ H &= oo 8 S g

b AT TEE

© TS HieE w9 g I R

@ OETEE ATP i SeTa=ied # ADP U4 Py
FI G T T

@ A § gafa Z-T 3 W W6 g9

St ¥
=1 farei o o S F I99T F= |

() Fa (b, (), (d), (&)
@  FE (b), @), &), (a)
3)  FA (), (), (d), (&)
@  Fa (a), (b), (), ()

AME H yEE & )Y & o 7 A wiE weeg
31E5E TE 27

(1)  SATFEEEE = H e

(@)  HrfRs & aEd

@) TRENH T YN & 3Tum ° IS
@)  HrRETifed 1 I

=1 °§ =i TEe STeRisE Ul THw T 1w
(MOET) =1 =R 7@l & ?

(1) T FHEW dEEE gr et e s g
@ frifaq s 8-32 FiftmEn s1azen § wfafgsa
AT T Rl = € |
(8) TE H I=9 deredsH o U LH SE fhen
e & oo ST E
() I TF THA T N 6-8 7S U= H! 2
196. et - I <1 =it - 11 & &y e s
Tl - 1 et - 11
(a) |3l Tafepeor| () (& srafush suam e |
gl feedi <51 =g
.. |90 S e % S |
(h) |ATart fawm | i) < sifcort
(c) (3Tl fawrm |(ii) [faaelt ue vl & d=
Hieta feransd | :
(d)%m’r‘a?mﬂ (iv) |Sifeq &1 T
Fre foredl @ Sfora so 1 =@ =10
@ ®) @©
L @ @ @) @)
@ @ ) @) @
@ v @ @ @
@ @@ @ @ @
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194.

195.

196.

05

During muscular contraction which of the
following events occur ?

() ‘H zone disappears

(b  ‘A’band widens

() T band reduces in width

(d)  Myosine hydrolyzes ATP, releasing the ADP
and Pi

(e)  Z-lines attached to actins are pulled inwards

Choose the correct answer from the options given
below,

(1) ®), (e), (d), (&) only
2 (), (d), (e), (a)only
3  (a), (c), (d), (&) only
@  (a), (®), (), (d)only

Which of these is not an important component of
initiation of parturition in humans ?

(1) Release of Oxytocin

(2)  Release of Prolactin

(3)  Increase in estrogen and progesterone ratio
(4)  Swynthesis of prostaglandins

Which of the following is not a step in Multiple
Ovulation Embryo Transfer Technology
(MOET) ?

)
)

Cow 1s fertilized by artificial insemination

Fertilized eggs are transferred to surrogate
mothers at 8-32 cell stage

Cow is administered hormone having LH
like activity for super ovulation

Cow yields about 6-8 eggs at a time

(3)

(4)
Mateh List - T with List - IT.
List -1 List - 11

Selection of resistant
varieties due to excessive
use of herbicides and
pesticides

Bones of forelimbs in Man
and Whale

Wings of Butterfly and
Bird

Adaptive

@) radiation

Convergent
evolution
Ivergent
evolution
Evolution by
anthropo-
genic action

(b)

(c)

(d) (iv) |Darwin Finches

Choose the correct answer from the options given
below.

(@ (b) () @
GO @ @O Gv) G
@ @® @ @ W
@) G @) @ @
@ @ @ @© @)
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197,

198,

199,

200,

FTereRT e i ggeniu s veref @ waw 9 9ret
Trerer & Tt € ud ST wal sroedi 3 qda s
Y TR FETsi % Hed Heaor wiihd w §

(1)  HHS: S 6 Ud §6 |y
(2)  THUST: TSI Wi U siarel! Gy
(3)  THHYT: AT WY Ud SRS G
@) I TE WY U4 Hauel iy

TshaT % STd Rt oy § W Rl gmE e
ST Far e ?

1) o

2 TYYE

(8) TTI Yk

(4 dafus

gt - 1 1 gelt - 11 & 919 T 1)
el - 1 el - 11

(@) [T s f9ad | @) | el

(b)'{flﬁ'{ile TR i) et fovemed
AN

(©) (iii) |TEus H el

¢ iii RLE]

() (iv)
W":E"”” iv) |gEia e

1 feu 4 fawreu 9 sfea 3w =7 ==m =10
@ b © @

1 v @O G G

2 v @ @ @

@ v @ @ @

@ v @& G G

iR s i s oA T &7

(1) %ﬁgﬁmwaﬁﬁﬂﬁ%m;@t
B 2

@ To=r = ol SEe ¥ g oTey B B

@) To= Hafoa S 8 STU[eT 1 U i oA
gl

@) Te=m =1 pH f&fem sr=i= 26t &

-00o0-
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198.

199,

200.
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Identify the types of cell junctions that help to stop
the leakage of the substances across a tissue and
facilitation of communication with neighbouring
cells via rapid transfer of ions and molecules,

() Adhering junctions and Tight junctions,
respectively.

(2) Adhering junctions and Gap junctions,
respectively.

(3) Gap junctions and Adhering junctions,
respectively.

(4) Tight junctions and Gap junctions,

respectively.

Which of the following secretes the hormone,
relaxin, during the later phase of pregnancy ?

(1)  Foetus

(2)  Uterus

(3)  Graafian follicle

(4)  Corpus luteum

Match List -1 with List - I1.
List - I List - I1

(a) |[Allen's Rule | (1) |Kangaroo rat

by |© pysiclogical | oo lneco ot tizard
adaptation

o) [onavonral el rtie ik st depih
adaptation

@y [Prochemical Lo ot acal
adaptation

Choose the correct answer from the options given

below.
(@ (b)) (¢ ()

1 @ @ @ b

@ W @ @ @

@ @ @ @ @

4 @) @O (@) @

Which one of the following statements about
Histones is wrong ?

(1) Histones are rich in amino acids - Lysine
and Arginine.

(2)  Histones carry positive charge in the side
chain.

(3) Histones are organized to form a unit of
8 molecules.

(4)  The pH of histones 1s slightly acidic.

-olo-
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5 48 Hindi+English
ﬁﬁﬁ@ﬁ% SEJT?#U'%‘ Read carefully the following instructions :
6. T T TN W, T FR/aa set 4@ e | 6. On completion of the test, the candidate must

T ; ot Firf hand over the Answer Sheet (ORIGINAL and
Rl ol : Ll Y OFFICE Copy) to the Invigilator before leaving
N HATI WIS | T 379 | e Eﬁ?ﬂm SE the Room/Hall. The candidates are allowed to take
HFa T away this Test Booklet with them.

7 WWWW% 05 | %Eﬁﬁwaﬂ-ﬁ'ﬁ; 7. The CODE for this Booklet is 05. Make
Wgﬁ?‘lﬂ = dam’ T %WWQTW& sure that the CODE prlntEfd on the Original

: Copy of the Answer Sheet is the same as that
T Fehd H foeren %l SR 77 o o1 el G d on this Test Booklet. In case of discrepancy, the
T Yt 3R S U= o % foau e =i T« candidate should immediately report the matter to
3TETT T | the Inwvigilator for replacement of both the Test

) ) Booklet and the Answer Sheet.

8. e gl LESKANERE Wﬁ‘cﬁﬁ%’[ TIMRTEA | ¢ The candidates should ensure that the Answer
34 WHE 37 9 = o | wdeneff oo s Sheet is not folded. Do not make any stray marks
B anywhere else except in the specified space in the

Test Booklet/Answer Sheet,

9. TW YA W fHHl TR o HINHA o WES WES ¥ | 9. Use of white fluid for correction is NOT permissible

TERT T STAfT T R on the Answer Sheet.
~ ~ 10. Each candidate must show on-demand his/her

10. Y ST R S TS, FRiarh 1 7 3w Admit Card to the Invigilator.
feam | 11. No candidate, without special permission of the

11. %% anitges =1 f1deres &1 fod srqafa & fomm =8 centre Superintendent or Invigilator, would leave

. his/her seat.
YT ST T A DS |
' | 12. The candidates should not leave the Examination

12. wE@ s 1 ot s A fu famr o Hall without handing over their Answer Sheet to

IUfEATg-9F T AN BEAER (HHY & o) fru the Invigilator on duty and sign (with time) the
. : Attendance Sheet twice. Cases, where a
o o e ’

HI T T WA T il et candidate has not signed the Attendance
witget A GH it ST Saftarfa-usre av gearery @& Sheet second time, will be deemed not to
feru <t =g wr=T Stre foF SEe ST ud @ wierar have handed over the Answer Sheet and
aﬁ'mgaﬂ&mmmaﬁrmwml dealt with as an Unfair Means case.

o 13. Use of Electronic/Manual Calculator is prohibited.

1 TS R HSHTeh 35T gl 14, The candidates are governed by all Rules and

14. TUAT-FA/BlA T 37w & Tau udane, wdan &% Regulations of the examination with regard to their
frmi we fafant g frafa £ 31{[.’!“?1?[ e conduct in the Examination Room/Hall. All cases
e o 4 i s i i e of unfair means will be dealt with as per the Rules

&l BH AT T and Regulations of this examination.
Sﬂﬂﬁ'{?ﬂ'ﬁ | 15. No part of the Test Booklet and Answer

15. mmﬁﬁww aﬁTEﬂTﬂﬂ‘Wﬂﬁ? Sheet shall be detached under any

. circumstances.
T SR T L
‘ * 16. The candidates will write the Correct Test Booklet
16, W& iR/ STRUA § T80 T w{ien Gt Hehd W Code as given in the Test Booklet/Answer Sheet

Tiramelt T wlen | Surefa-wses § fad |

in the Attendance Sheet.
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